XI. Administrative Funds Expended

In 2017, CenterPoint Houston incurred administrative costs on categories such as continued development of its energy efficiency tracking database (eTrack), employees' salaries, training, and travel, purchase of supplies, and other activities necessary and appropriate for successful program implementation. These costs meet the definition of administration costs as defined by the energy efficiency rule under Substantive Rule 25.181(i)(1) that states these type of costs "include all reasonable and necessary costs incurred by the utility in carrying out its responsibilities..." The spending in these cost categories is monitored throughout the year and mid-course corrections are made as necessary to ensure the success of the portfolio.

XII. Current Energy Efficiency Cost Recovery Factor (EECRF)

CenterPoint Houston's 2018 EECRF was approved by the Public Utility Commission of Texas in Docket

No. 47232 on November 2, 2017 for the amount of \$46,321,856.

"CenterPoint Houston's 2018 EECRF is approved in the amount of \$46,321,856 through its 2018 EECRF, which is composed of: (a) estimated 2018 energy-efficiency program costs of \$36,435,834; (b) a performance bonus for 2016 program achievements of \$11,035,335; (c) \$73,821 in 2016 EECRF rate-case expenses; (d) \$1,063,413 in EM&V costs for 2017 and 2018; (e) a credit of \$2,210,578 for the over-recovery of 2016 program costs; and (f) an additional reduction of \$75,969 to CenterPoint Houston's original request through its September 15, 2017, errata"

XIII. Revenue Collected Through EECRF

In 2017, CenterPoint Houston collected a total of \$46,110,757 in energy efficiency program costs through the EECRF Rider.

XIV. Over or Under-recovery of Energy Efficiency Program Costs

In Docket No. 46014, the PUC approved energy efficiency costs to be recovered in 2017 of \$45,492,241 consisting of:

\$36,508,012	2017 Forecasted Program Costs
\$10,608,015	2015 Bonus
-\$ 1,328,468	2015 Over-Recovery
\$0	2017 Forecasted EM&V Expenses
-\$ 67,000	2015 Historical Admin Adjustment
-264,197	2016 Over-recovery Docket 42359
\$ 35,879	2015 Rate Case Expense
\$ 45,492,24	1 Total EECRF Costs

In 2017, actual program costs were \$31,420,852 and actual EM&V costs were \$531,335 and total energy efficiency related costs were \$40,936,416. Total revenues collected through the EECRF Rider were \$46,110,757, resulting in overall over-recovery of \$5,174,341. EM&V costs were not recovered in 2017 and are part of the 2018 EECRF.

37

Exhibit JRD-1 Page 38 of 42 Energy Efficiency Plan

XV. Under Served Counties

There were no counties within the CenterPoint Houston service territory that were under-served by the Company's energy efficiency programs in 2017. CenterPoint Houston's energy efficiency programs were accessible to all counties within the Company's electric service area. Appendix C lists the counties served by CenterPoint Houston and the amount of savings each county experienced in 2017 through the company's energy efficiency programs.

XVI. Performance Bonus Calculation

In 2017, CenterPoint Houston's total spending on the implementation of Energy Efficiency Programs was \$31,420,852. Per Substantive Rule § 25.181, the calculation of performance bonus is 10% of Net Benefits. Therefore, CenterPoint Houston will request a performance bonus of \$9,491,299 as part of the 2018 EECRF filing.

		kW	kWh
2017 Program Goals	<u> </u>	60,420	105,855,840
2017 Program Savings		188,425	183,438,841
Reported/	Verified Total (including HTR,		
	IL, and measures with EULs <		
	or > 10 years)	188,425	183,438,841
Rej	orted/Verified Hard-to-Reach	5,430	7,582,500
Avoided Cost		·	
	per kW		\$80
	per kWh		\$0.03989
	Inflation Rate		2.0%
	Discount Rate		8.21%
	·		
Total Avoided Cost ¹¹		. 	126,525,075
		Anarthan ann Your tracht fa	
2017 Program Costs ¹²		S	31,612,083
Net Benefits = Total Avoided	Cost - Total Program Cost		
Net Benefits		S	94,912,992
Bonus Based on 10% N	et Benefits		9,491,299

¹¹Complete avoided cost savings table will be provided in the June 1 filing of the EECRF.

¹² Total Program Costs is inclusive of 2017 total spending for implementation of Energy Efficiency Programs, 2017 EM&V Expenses, and 2017 Rate Case Expenses.

Appendix A: Acronyms

CCET	Center for the Commercialization of Electric Technologies
CLM	Commercial Load Management
DR	Demand Response
DSM	Demand Side Management
EECRF	Energy Efficiency Cost Recovery Factor
EEP	Energy Efficiency Plan, which was filed as a separate document prior to April 2008
EEPR	Energy Efficiency Plan and Report
EER	Energy Efficiency Report, which was filed as a separate document prior to April 2008
ERCOT	Electric Reliability Council of Texas
HERS	Home Energy Ratings
HTR	Hard-To-Reach
МТР	Market Transformation Program
PUCT	Public Utility Commission of Texas
RCx	Retro-Commissioning
REP	Retail Electrical Provider
RES	Residential
RESNET	Residential Energy Services Network
SCORE	Schools Conserving Resources
SOP	Standard Offer Program
SSP	Sustainable Schools Program

Appendix B: Glossary

Please refer to the glossary defined in Substantive Rule § 25.181.

Exhibit JRD-1 Page 42 of 42 Energy Efficiency Plan

Appendix C
CenterPoint Energy Houston Electric, LLC Efficiency Programs
Energy Efficiency Programs
2017 Demand (kW) and Energy (LWh) Savings at Meter By County

Anti- anti- anti- anti- anti- anti-			le de seneria	1	R Deini	Caraci		111			Statute-	1-31	Galling Strain
A CASE AND A	łw	2	128.2	531.7	\$14.5	111.	5.661		- ABBSCIES	22.4		64.3	7.33
Large Commercial #OP	1Wh		1011540										
	KW I			2,417,4390						95,424 (403,737,0	44.918.99
Commercial MIP - Score		57.5			394.1	232.9	2,707.			3.2		37,2	3.87
	1.Wh	970.17,0	2,360,317.0		1,721 132.0	1,220,6190	17.332.496.		· · · ·	21,358.0	ļ	242,957.0	22,995,99
Conducted MIP - Realthcare	LW		I		_		549.		1.	1			54
	kWh		L				6,653,151,0	×					6,653,15
Large Commercial Load Management	kW	1	4.148.2	9 27.5	4 700,7	599 2	114.889.	4		140.9			125 55
SOP	EWb		24,889.2	5,565.0	28,2044	3,595.2	687,919	ļ	L	2454	9246		751,94
Retro-Commissioning MTP	LW.				16,5		155.2						
	kWh	l			462,665.0		1,648,758.0						2,111,42
RFF (Commercial Cooleaver)	kW		14		78.6		45.						12
	LWh	Į	2,8920		136114.0		\$3,390.0			1			222,35
Suziainable Schools	Ł₩	I					466.0			1			
	4Wh						3,661,656.0	ž.		1			3,661,6
Advanced Lighting Commended	LW		9,3		29.9	11.4	132.7			60			11
	kW b		46.6671		149,672.5	56,897 8	664.101.3			30,160.5			947,49
Data Centers Program	ΣW						544.1						54
when contrast register	(Wh						4,161,345 (1			4161,34
New Houses MIT	KW		1,066 1	H7.7	5 244 1	142.3	\$ 354.7			732.5	20 5		15,70
ACT LOUGCE DELL	kWa		3,527,060.0	515.312.5	16,729,222.7	491,152,3	27,615,929,8	1		2,399,275 7	66.125.7		51,344,87
Residential & SC SOP	ŁW	21	17	0,3	11.2	42	50.5	1				04	
Restricted at BC BOT	kWh	5,196.0	4,492.0	5214	20,518.1	11.601.2	90.063.4	F		1.741.2		555.D	134,76
1	k₩		177.1		567.3	216,2	2.520.7			1144			3,55
Admnced Lighting Residential	kWh		B36.674 1		2.843,778.0	1.061.057.7	12.617.9254			573.049.7			18.002.4
Residential & SC AC Distributor	kW	1.8	185.5	9.0	719.2	30.9	1,915,1			667	9,0		2.9
MTP	kWh	5,317.4	477 154.6	24,529 (1,489,245,9	79.811.0	50194621	· · · · · · · · · · · · · · · · · · ·		179 853 1	24 613.7		7,700.01
	1W	1.5	82.3	4.6	391.6	24.1	1,047.7			661	3.2	6.8	1.65
RPP (Residential Coolsever)	LW h	3 720.0	209.161.0	11.766.0	1.005.218.0	63 050 0	2,664,695.0	1		168,765.0	E.184.0	2,106.0	4,136,65
	ŁW	03	19,6	0.6	28.5	4.7	170.9	0.2	00			0.6	22
REP (Efficiency Connection)	kWb	1.625 8	53.818.6	3,182,8	145.011.2	24 034 4	868,343.6		80.0	48.637.0	6,671.5	3,300.2	1,155,52
Residential Domand Response	LW .	94	1,248,8	172.3	2.985.1	253.2	11.656.7	00		K36.8	28.1	1.7	17.15
Program	kWh	564	7.492.9	1,033.5	17.9)0.5	1,518.9	69,9401	-0.1		5.020.9	161.	10,1	103.15
Multi- Family High Hildency New	kW.		1.474		28.5	1.3/14,2	1160			3,020.5	1064		23
Construction	kWb				48,317 \$		530,9991	-		268.644 0			818.03
fulti-bumily Water & Space Heating	kW				NOH NOH		L1829			50.3			1.36
MIP (NA)	kWa				361.424.7		1.463.630.5			121.675.2			
	kW.	6,6	244	4.8	301,4241/	7.2	520.2			646	1.6		1,946 77
Smart Fool Program Residential	kWh	2.470.2	78,142,8	16 808.6	412.569.0	26.961.7							72
	1W		91.0	10 406.0	412,56910 134.2	67.1	1,966,1667			247,7590	6 451.7		2757,32
Energy Wise Resource Aution MITP	EW b												47
			130,227.7		290,432 6	79,974.9	\$01,752.1						1,302,31
Hard-to-Brach SOP Program	Υ.Υ.				-45.9		446.7				2.1	4.8	53
	LWh				\$1,430,2		522,539.3				1,909.2	4,325.7	587,20
Miti-Fandiy Water & Space Benling	KW.		2384				755.0						99
VILLE (ILLE)	1.Wh		201.476.2				638,007,8						839.48
Multi-Family Direct Install	LW_				0.3		20.3						2
	kWa				2,069 4		101,282.2						103.35
Multi-Family High Efficiency New	KW						20 8						2
Construction (IITR)	kWh						48,429,7						41.42
argeted Low Insume MFF (Agentias	kW		04		54.1		3,841,0						3,85
In Action)	LWh		5451		18,987 9		5.961.497.2						6,004 09
REP (Contraver funning Qualified)	k₩				1.2								
	k₩h (2,958,0								
TOTAL STATES	and the La	The second second			- 41 TAL			in the second second	1105			ي المراجع الم	
Tinini EW Amburgert State		73.3					155,092.*	1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1					2.07 89 744
Total & Wit Savings	the second second		1247/ A 1 1 1 1				(31.123 th)	1.		A 44 4 4 1 1	A	10 - 11 Top & BPR. 1.	

CenterPoint Energy Houston Electric, LLC

42

2018 Energy Efficiency Plan and Report

STATE OF TEXAS § COUNTY OF HARRIS §

AFFIDAVIT OF MICHELLE MARIE TOWNSEND

BEFORE ME, the undersigned authority, on this day personally appeared Michelle M

Townsend, who, having been placed under oath by me, did depose as follows:

- 1. "My name is Michelle M Townsend. I am over the age of eighteen and fully competent to make this affidavit. I am the Manager of Business Services Planning and Performance Management for CNP. My business address is 1111 Louisiana Street, Houston, Texas 77002.
- 2. I am responsible for ensuring that the costs incurred by Service Company are properly billed to each of the CenterPoint Energy, Inc. ("CNP") business units, including CenterPoint Energy Houston Electric, LLC ("CenterPoint Houston"). I am also responsible for providing Service Company information to the Regulatory Reporting Department to support regulatory filing requirements. I am familiar with the affiliate billings included in the Company's application in this proceeding, including Service Company's practices and billing methodologies and how other affiliate costs are charged to CenterPoint Houston.
- 3. Service Company provides a number of services to the various operating units within CNP, such as CenterPoint Houston or the Gas Operations regions within CenterPoint Energy Resources Corp. Service Company costs are billed to affiliates, including CenterPoint Houston, through either direct billings or by allocation. Direct billings represent costs for services incurred directly on behalf of a business unit. These costs are billed directly to the business unit automatically through the SAP accounting system.
- 4. During the 2017 energy efficiency program year, Service Company billed directly to CenterPoint Houston's energy efficiency department a total of \$31,603 in affiliate expense related to information technology and legal services necessary to operate CenterPoint Houston's energy efficiency program and meet the requirements of PURA § 39.905 and 16 Tex. Admin. Code ("TAC") § 25.181. No adjustments have been made to these costs.
- 5. The Company's application does not include any affiliate costs that are deemed unrecoverable or prohibited by PURA or the Commission's rules, including contributions to political organizations or causes or legislative advocacy.
- 6. CenterPoint Houston would require the same types of services provided by its Service Company if it were a stand-alone business entity. Service Company services provided to CenterPoint Houston are necessary for CenterPoint Houston's operations regardless of whether the service is performed centrally, as is done at CNP, or on a decentralized basis and residing at the business unit level. These services are not duplicative of any of the services provided by CenterPoint Houston.

- 7. Affiliate costs directly billed to CenterPoint Houston are priced exactly the same as those provided to other affiliates. Each business unit is charged costs based on the same terms. Such equal treatment is necessary to ensure that all affiliates bear their appropriate costs. For services billed on the basis of time spent, each affiliate is charged the same rate per billable hour for the same service. To ensure all costs are billed each month, any residual unassigned amounts after billing service or billable hour units are billed to the affiliates based on planned activities. In addition, all transactions between Service Company and its affiliated business units are governed by the Service Level Agreements that are executed each year.
- 8. In preparing this case, the Company employed the same methods that it used to prepare its affiliate billing information in the Company's last general rate case, Docket No. 38339, Application of CenterPoint Energy Houston Electric, LLC for Authority to Change Rates. The nature of the directly billed costs and the methodologies by which those costs are determined have not changed since the Public Utility Commission of Texas ("Commission") approved them for CenterPoint Houston in Docket No. 38339.
- 9. For all of these reasons, CenterPoint Houston has complied with the statutory and regulatory standards used by the Commission to determine the reasonableness and necessity of expenses associated with affiliate transactions and their inclusion in rates. The affiliate costs charged to CenterPoint Houston are of the type enumerated in the definition of TAC § 25.272(c)(4) of 'corporate support services.' These costs are fully direct billed and otherwise comport with the applicable requirements of TAC § 25.272 and PURA § 36.058. The affiliate costs charged to CenterPoint Houston are reasonable and necessary and have been priced no higher than Service Company charges other affiliates for the same service. There is no preferential treatment among, or cross-subsidization of, affiliates.

Further affiant sayeth not.

SUBSCRIBED AND SWORN TO BEFORE ME on this 23ch day of May 2017.

Notary Public in and for the State of Texas



STATE OF TEXAS COUNTY OF HARRIS

AFFIDAVIT OF MARY A. KIRK

BEFORE ME, the undersigned authority, on this day personally appeared Mary A. Kirk,

who having been placed under oath by me did depose as follows:

§ §

§

- 1. "My name is Mary A. Kirk. I am of sound mind and capable of making this affidavit. The facts stated herein are true and correct based on my personal knowledge.
- 2. I am Director of Financial Accounting for CenterPoint Energy, Inc. ("CNP"), which is the parent company of the applicant in this proceeding, CenterPoint Energy Houston Electric, LLC ("CenterPoint Houston" or the "Company"). I assumed this position effective July 16, 2012.
- 3. As Director of Financial Accounting for CNP, I am responsible for the accounting books and records of CNP's regulated gas and electric businesses, including financial accounting for these business units, regulatory reporting, property accounting, gas cost accounting, and revenue accounting. More specifically, I am responsible for the books and records that support the schedules used to develop CenterPoint Houston's Application for Approval of an Adjustment to its Energy Efficiency Cost Recovery Factor ("Application") in this proceeding. I am also responsible for ensuring that CNP has adequate staff, processes and systems in place to meet the Company's financial and regulatory accounting and reporting requirements as required by the Public Utility Commission of Texas.
- 4. The schedules supporting the Company's Application were prepared from the books and records of the Company and are accurate summaries of the business records upon which they are based.
- 5. The Company's books, accounts and records are kept in compliance with the FERC Uniform System of Accounts, as prescribed by Section 14.151 of the Public Utility Regulatory Act, and meet all applicable requirements of 16 TAC § 25.72."

Further affiant sayeth not.

Mary A. Kirk

SUBSCRIBED AND SWORN TO BEFORE ME on this _____ day of May, 2018.

Notary-Public in and for the State of Texas



STATE OF TEXAS COUNTY OF HARRIS

§ § §

AFFIDAVIT OF RANDOLPH H. SUTTON

BEFORE ME, the undersigned authority, on this day personally appeared Randolph H. Sutton who having been placed under oath by me did depose as follows:

- 1. My name is Randolph H. Sutton. I am of sound mind and capable of making this affidavit. The facts stated herein are true and correct based upon my personal knowledge.
- 2. I am the Manager of Human Resources, at CenterPoint Energy Service Company, LLC ("Service Company"), which is a wholly-owned subsidiary of CenterPoint Energy Inc. ("CNP") that provides centralized support services to CNP's operating units, including CenterPoint Energy Houston Electric, LLC ("CenterPoint Houston" or the "Company"). In my current role, I serve as the Company's witness regarding the Human Resource aspects of CNP's rate and regulatory filings, including compensation and benefit programs.
- 3. CNP's philosophy is to maintain the market competitiveness of its programs as measured from a "total compensation" perspective. This means that we will measure all of the components that make up total compensation and benchmark against competitor companies to ensure that our compensation program is sufficient to recruit, retain and motivate the workforce needed to serve our customers.
- 4. The components of total compensation at CNP are base pay, short-term incentives, long-term incentives and benefits.
- 5. By providing total compensation opportunities comparable to those an employee could find in other companies, CNP is able to ensure its customers that experienced and capable employees will be on the job to provide the reliable and reasonably priced energy services they rely on.
- 6. In order to monitor and determine market-based compensation and benefits for its employees, CNP uses a variety of national, regional and local survey data. CNP relies on these types of surveys to establish total compensation levels that approximate the median levels our peers and competitors provide for jobs that are similar to CNP's jobs. We collect objective, confidential total compensation data reflective of a broad representation of the market.
- 7. The CNP Short Term Incentive Plan ("STI") provides an opportunity for annual incentive pay based on the attainment of annual financial and operational performance targets, including operating income, efficiency of operations, customer service and safety. All of the performance targets provide direct benefits to customers by motivating employee behaviors such as expense management and operational efficiency, which are critical to limiting cost increases that would otherwise need to be recovered in rates.

- 8. The Company is not requesting any costs of long-term compensation as part of this filing.
- 9. CNP's benefits philosophy is to provide a comprehensive set of benefits to meet employees' health and welfare and financial security needs in an affordable and efficient manner with the overall value targeted at the median of the marketplace, which is similar to its compensation philosophy.
- CNP offers the following types of benefits as part of its comprehensive benefits plan: (1) Health and Welfare plans; (2) Qualified and Non-Qualified Retirement Plans; (3) Qualified and Non-Qualified Savings Plans; (4) Postretirement Welfare Plans; (5) Postemployment Welfare Plans; and (6) Deferred Compensation Plans.
- 11. CNP leverages its size and the expertise of its Human Resource staff to get the best value for its benefits expenditures. For instance, for all insured plans, we partner with brokers to ensure that administrative services are competitively priced and periodically we solicit third-party bids on all insured plans to ensure that the premiums CNP pays are reasonable.
- 12. The compensation and benefits costs included in the Company's application are reasonable and necessary expenses to operate the Company's energy efficiency programs necessary to comply with the requirements of 16 TAC § 25.181. They are also necessary to provide safe, reliable and cost-effective service to the Company's customers.
- 13. The Company's compensation and benefit levels have been approved in previous dockets before this Commission, most recently in PUC Docket No. 38339, and they have not changed substantively since they were last approved.

Further affiant sayeth not.

Randolph H. Sutton

SUBSCRIBED AND SWORN TO BEFORE ME on this 23 day of May, 2018.

ROXANNE ZULAICA MCFARLAND My Nolary ID # 126136270 Expires May 1, 2020

Chary Public in and for the State of Texas

DOCKET NO.

APPLICATION OF CENTERPOINT	§	
ENERGY HOUSTON ELECTRIC, LLC	ş	PUBLIC UTILITY COMMISSION
FOR APPROVAL OF AN	§	
ADJUSTMENT TO ITS ENERGY	§	OF TEXAS
EFFICIENCY COST RECOVERY	§	
FACTOR	§	

AFFIDAVIT OF MICKEY S. MOON

STATE OF TEXAS	§
	ş
COUNTY OF HARRIS	Ş

Before me, the undersigned authority, on this day personally appeared Mickey S. Moon, who, having been placed under oath by me, did depose as follows:

- 1. My name is Mickey S. Moon. I am over the age of 18 and fully competent to make this affidavit.
- 2. I am employed by CenterPoint Energy Service Company, LLC as Assistant General Counsel.
- 3. I have a BA in Political Science from The University of Texas at Arlington and a JD from The University of Tulsa School of Law. I am licensed to practice law in Arkansas, Oklahoma and Texas. I am also licensed and have appeared in state and federal courts in Oklahoma as well as the United States Court of Appeals for the District of Columbia Circuit.
- 4. After graduation from law school, I was employed as an Assistant Attorney General for the State of Oklahoma for approximately five years, during which time I represented Oklahoma utility ratepayers primarily in proceedings before the Oklahoma Corporation Commission. I was also a captain in the United States Army Reserve and served as a lawyer in the Army's Judge Advocate General Corps for approximately six years after the September 11, 2001 terrorist attacks.
- 5. I have been employed by CenterPoint Energy Service Company, LLC as an attorney in its legal department for approximately 15 years. During the first few years of my career at CenterPoint Energy, I represented the company's natural gas utility business in Arkansas, Louisiana, Oklahoma, and Texas. I then represented the company's natural gas marketing and trading business for a number of years. I have represented the electric utility business, CenterPoint Energy Houston Electric, LLC ("CEHE"), for approximately the last three years.

- 6. Over the ourse of my entire career at CenterPoint Energy I have appeared, and hired and managed outside counsel and testifying and consulting experts, in numerous contested cases, rulemakings, investigations and routine matters before different state and federal administrative agencies, including the Federal Energy Regulatory Commission, the Commodity Futures Trading Commission, the Arkansas Public Service Commission, the Louisiana Public Service Commission, the Oklahoma Corporation Commission, the Railroad Commission of Texas, and the Public Utility Commission of Texas (the "PUCT").
- 7. First as an Assistant Attorney General for the State of Oklahoma and then as Assistant General Counsel for CenterPoint Energy Service Company, LLC, I have been responsible for reviewing and approving invoices from outside law firms and consultants.
- 8. As Assistant General Counsel for CenterPoint Energy Service Company, LLC, which is responsible for providing legal services to all business units of CenterPoint Energy, Inc., a Fortune 500 corporation, I am familiar with the rates of a broad range of lawyers, both those at small and large firms and solo practitioners, including the rates charged by such attorneys for work on PUCT matters.
- 9. Based on the above experience, I have previously provided testimony before the Railroad Commission of Texas and the PUCT regarding the reasonableness of legal fees.
- 10. In the 2017 Application of CenterPoint Energy Houston Electric, LLC for Approval of an Adjustment to Its Energy Efficiency Cost Recovery Factor ("EECRF"), Docket No. 47232, CEHE was represented by outside counsel with the law firm Parsley Coffin Renner LLP ("PCR"), now known as Coffin Renner LLP. The PCR attorneys who worked on this matter have extensive experience representing utilities before the PUCT.
- 11. Mark Santos was the primary lawyer at PCR representing CEHE in its 2017 EECRF filing in Docket No. 47232. Mr. Santos has been one of CEHE's outside counsels in various PUCT proceedings for approximately 9 years. Moreover, CEHE is not the only utility client he represents before the PUCT. Mr. Santos is therefore knowledgeable of and skilled in PUCT practices and procedures.
- 12. Mr. Santos has also been the lead outside lawyer for CEHE in each of its previous annual EECRF filings since 2010. Of CEHE's outside counsel, he is the most knowledgeable concerning energy efficiency projects and EECRF issues.
- 13. The invoices to CEHE from PCR for work in Docket No. 47232 total \$23,335 and are attached. I have personally reviewed the invoices on behalf of CEHE.
- 14. I reviewed the above-referenced invoices taking into consideration the eight factors listed in Rule 1.04(b) of the Texas Disciplinary Rules of Professional Conduct:

- (1) the time and labor required, novelty and difficulty of the questions involved and the skill requisite to perform the legal services properly;
- (2) the likelihood that acceptance of employment will preclude other employment by the attorney;
- (3) the customary fee charged in the locality for similar legal services;
- (4) the amount of time involved and result achieved;
- (5) time limitation imposed by the client or circumstances;
- (6) the nature and length of the professional relationship with the client;
- (7) the experience, reputation and ability of the lawyers involved; and
- (8) whether the fee is fixed or contingent or uncertain of collection before the legal services are rendered.
- 15. I considered the factors delineated by the Third Court of Appeals in *City of El Paso* v. *Public Utility Comm'n of Texas*, 916 S.W.2d 515 (Tex. App.—Austin 1995, writ dism'd by agr.):
 - (1) time and labor required;
 - (2) nature and complexity of the case;
 - (3) amount of money or value of property or interest at stake;
 - (4) extent of responsibilities the attorney assumes;
 - (5) whether the attorney loses other employment because of the undertaking; and
 - (6) benefits to the client from the services.
- 16. I also considered the relevant criteria relating to the reasonableness of rate case expenses in 16 Tex. Admin. Code ("TAC") § 25.245(b):
 - (1) the nature, extent, and difficulty of the work done by the attorney or other professional in the rate case;
 - (2) the time and labor required and expended by the attorney or other professional;
 - (3) the fees or other consideration paid to the attorney or other professional for the services rendered;
 - (4) the expenses incurred for lodging, meals and beverages, transportation, or other services or materials;
 - (5) the nature and scope of the rate case, including:
 - (A) the size of the utility and number and type of consumers served;
 - (B) the amount of money or value of property or interest at stake;
 - (C) the novelty or complexity of the issues addressed;
 - (D) the amount and complexity of discovery;
 - (E) the occurrence and length of a hearing; and

- (6) the specific issue or issues in the rate case and the amount of ratecase expenses reasonably associated with each issue.
- 17. As noted above, I am familiar with the rates for utility regulatory work in Texas and elsewhere. Generally speaking, the rates charged by any individual lawyer typically vary based on the level of experience possessed by the lawyer performing the work, the size and reputation of the law firm in which the lawyer works, and the technical nature of the work performed. While the hourly rate charged by outside counsel for work in this case is an important factor, it is only one of many important factors to be considered. Equally important are factors such as the number of hours worked, the complexity of the issues involved, and the experience of the lawyers involved. That is, an experienced lawyer in a complex case with an hourly rate at the high end of the range may be able to more efficiently do the work than a less experienced lawyer with an hourly rate at the low- or mid-point of the hourly rate range, such that the total amount paid at the end of the day is reasonable, even if the hourly rates are at the high end of the range. Similarly, a lawyer working at an hourly rate at the low- or mid-point of the range may have spent so many hours on a matter that the total amount paid is not reasonable, even though the hourly rate is low.
- 18. I am familiar with many regulatory lawyers in the Texas bar, and the lawyers at PCR enjoy excellent reputations for providing a high level of quality work on both complex and routine appellate matters. PCR works on matters of significant importance to Fortune 500 clients. In my experience, the hourly rates of PCR for work done in Docket No. 47232 are consistent with other Texas lawyers performing similar work in Texas. Rates for lawyers at the PUCT, in my experience, have recently ranged, depending on the experience of the lawyer between \$300 to more than \$700 (and sometimes more for very specialized subject matters, like tax regulatory work). The rates for PCR's work in Docket No. 47232 are in the expected range.
- 19. The rates charged by PCR for Docket No. 47232 were the same hourly rates the law firm charged CEHE and its affiliates for other matters I am familiar with, including matters for which rate case expense reimbursement was not available.
- 20. In my opinion, the hourly rates charged by PCR in Docket No. 47232 are reasonable and in the range of rates charged in Texas by firms with the same level of depth and expertise. Similarly, in my opinion, the other expenses charged by PCR (i.e. copying, delivery service, etc.) are also reasonable and in line with costs charged by other law firms providing these types of legal services.
- 21. With regard to 16 TAC § 25.245(b) and (c) that relate to the determination of the reasonableness and necessity of the rate case expenses CEHE seeks to recover, the following information is relevant:

- (1) The rate case expense documentation CEHE is filing shows that the fees paid to, tasks performed by, and time spent on a task by an attorney, expert witness, or other professional in these cases is not extreme or excessive;
- (2) The rate case expense documentation CEHE is filing shows that the expenses incurred for lodging, meals and beverages, transportation, or other services or materials were not extreme or excessive;
- (3) CEHE's applications, testimony, and related materials in Docket No. 47232 as well as the rate case documentation CEHE is filing show there was no unnecessary duplication of services or testimony;
- (4) CEHE's application, testimony and related materials show that CEHE's EECRF application has a reasonable basis in law, policy and fact and is warranted based on PUCT precedent in prior EECRF cases;
- (5) CEHE's rate case expenses in Docket No. 47232 as a whole are not disproportionate, excessive or unwarranted in relation to the nature and scope of the rate case addressed by the evidence pursuant to 16 TAC § 25.245(b)(5) for the reasons noted above; and
- (6) Given the rate case expense documentation CEHE is filing, CEHE did not fail to comply with the requirements for providing sufficient information pursuant to 16 TAC § 25.245(b).
- 22. Based on my experience and after considering the factors listed in paragraphs 14, 15 and 16 above, the \$23,335 in rate case expenses incurred by CEHE in Docket No. 47232 were reasonable and necessary for the work performed.

Mickey S. Moon

SUBSCRIBED AND SWORN TO BEFORE ME by the said Mickey S. Moon on the $\frac{3/3}{10}$ day of May, 2018.

Alice & Hart

Notary Public, State of Texas



Parsley Coffin Renner LLP

P O Box 13366 Austin, TX 78711

Taxpayer I.D. # 27-0934461

Invoice Description: 2017 EECRF

Invoice #: 6499 Invoice Date: 05/16/2017 Invoice Total: \$170.00 Matter #: 2017 1217 Matter Desc: 2017 EEPR & EECRF Docket Main Assignee: Moon, Mickey

Exhibit JRD-5 Page 7 of 41

Invoice Detail

Performed By	Date	Hours	Rate	Total	Description
Santos, Mark A.	04/26/2017	0.40	\$425.00	\$170.00	Communicate with client A. Machtemes, et al. re EECRF filing
Matter Total	:	0.40		\$170.00	

Lawyer Summary

Performed By	Rate	Hours	Total Fees
Santos, Mark A.	\$425.00	0.40	\$170.00
	Sum:	0.40	\$170.00

Expenses

Date	Description		Amount
		Total Expenses:	
	, ,		
	ſ		
	1	Page 3 of 4	

Fees / Expense Summary

Fees: Expenses: \$170.00

Total Amt Due:

\$170.00

Parsley Coffin Renner LLP

P O Box 13366 Austin, TX 78711

Taxpayer I.D. # 27-0934461

Invoice Description: 2017 EECRF

Invoice #: 6524 Invoice Date: 06/21/2017 Invoice Total: \$5,417.50

Matter #: 2017 1217 Matter Desc: 2017 EEPR & EECRF Docket Main Assignee: Moon, Mickey

Invoice Detail

Performed By	Date	Hours	Rate	Total	Description
Roberts, Justin C.	05/09/2017	0.40	\$250.00	\$100.00	Research re amendments to EECRF rule
Santos, Mark A.	05/17/2017	1.10	\$425.00	\$467.50	Review/Analyze rate case expense recovery issue re municipalities
Santos, Mark A.	05/18/2017	0.20	\$425.00	\$85.00	Communicate w/other external COH re rate case expenses
Santos, Mark A.	05/19/2017	0.30	\$425.00	\$127.50	Communicate w/other external COH re rate case expenses
Santos, Mark A.	05/22/2017	4.30	\$425.00	\$1,827.50	Review/Analyze draft testimony and issues
Santos, Mark A.	05/23/2017	3.40	\$425.00	\$1,445.00	Draft/Revise EECRF application
Roberts, Justin C.	05/24/2017	0.70	\$250.00	\$175.00	Draft/Revise public notice
Santos, Mark A.	05/24/2017	1.30	\$425.00	\$552.50	Review/Analyze draft application and notice
Santos, Mark A.	05/25/2017	0.40	\$425.00	\$170.00	Communicate with client A. Machtemes, et al. re draft EECRF filing
Santos, Mark A.	05/26/2017	0.90	\$425.00	\$382.50	Review/Analyze application and testimony
Santos, Mark A.	05/30/2017	0.20	\$425.00	\$85.00	Communicate with client A. Machtemes re draft application
Matter Total	:	13.20		\$5,417.50	-

-

Lawyer Summary

				<u>.</u>	
	Performed By	Rate	Hours	Total Fees	
	Roberts, Justin C.	\$250.00	1.10	\$275.00	
	Santos, Mark 🗛.	\$425.00	12.10	\$5,142.50	
		Sum:	13.20	\$5,417.50	
xpenses					
)ate	Description				Amount
	ł			Total Expenses:	
		Page 3			

Fees / Expense Summary

Fees: Expenses: \$5,417.50

Total Amt Due:

\$5,417.50

Parsley Coffin Renner LLP

P O Box 13366 Austin, TX 78711

Taxpayer I.D. # 27-0934461

Invoice Description: 2017 EECRF

Invoice #: 6547 Invoice Date: 07/21/2017 Invoice Total: \$1,260.00

Matter #: 2017 1217 Matter Desc: 2017 EEPR & EECRF Docket Main Assignee: Moon, Mickey

Invoice Detail

Performed By	Date	Hours	Rate	Total	Description
Roberts, Justin C.	06/09/2017	1.30	\$250.00	\$325.00	Draft/Revise list of issues
Santos, Mark A.	06/13/2017	0.30	\$425.00	\$127.50	Draft/Revise list of issues
Santos, Mark A.	06/20/2017	0.30	\$425.00	\$127.50	Review/Analyze discovery issues
Santos, Mark A.	06/20/2017	0.30	\$425.00	\$127.50	Review/Analyze procedural schedule
Santos, Mark A.	06/2 1 /2017	1.10	\$425.00	\$467.50	Draft/Revise procedural schedule
Santos, Mark A.	06/22/2017	0.20	\$425.00	\$85.00	Review/Analyze preliminary order
Matter Total	:	3.50		\$1,260.00	

---<u>-</u>----

					Exhibit JRD-5 Page 16 of 41
		Lawyer St	ummary		
	Performed By	Rate	Hours	Total Fees	
	Roberts, Justin C.	\$250.00	1.30	\$325.00	
	Santos, Mark A.	\$425.00	2.20	\$935.00	
		Sum:	3.50	\$1,260.00	
	1				
Expenses					
Date	Description				Amount

Total Expenses:

Fees / Expense Summary

Fees: Expenses: \$1,260.00

Total Amt Due:

\$1,260.00

Parsley Coffin Renner LLP

P O Box 13366 Austin, TX 78711

Taxpayer I.D. # 27-0934461

Invoice Description: 2017 EECRF

Invoice #: 6572 Invoice Date: 08/21/2017 Invoice Total: \$3,102.50

Matter #: 2017 1217 Matter Desc: 2017 EEPR & EECRF Docket Main Assignee: Moon, Mickey

Invoice Detail

Performed By	Date	Hours	Rate	Total	Description
Santos, Mark A.	07/06/2017	0.40	\$425.00	\$170.00	Communicate w/other external parties re procedural schedule
Santos, Mark A.	07/07/2017	1.90	\$425.00	\$807.50	Communicate w/other external parties and ALJ's assistant re procedural schedule and motion to cancel hearing
Santos, Mark A.	07/11/2017	1.80	\$425.00	\$765.00	Review/Analyze GCCC testimony issue re bonus calculation in AEP and Oncor cases
Santos, Mark A.	07/13/2017	0.20	\$425.00	\$85.00	Communicate with client A. Machtemes re Order No. 2
Santos, Mark A.	07/13/2017	0.20	\$425.00	\$85.00	Communicate w/other external parties re response to Order No. 2
Santos, Mark A.	07/13/2017	0.30	\$425.00	\$127.50	Draft/Revise letter to ALJ re Order No. 2
Santos, Mark A.	07/13/2017	0.20	\$425.00	\$85.00	Review/Analyze Order No. 2
Santos, Mark A.	07/17/2017	0.30	\$425.00	\$127.50	Communicate w/other external Oncor and AEP re intervenor positions in EECRF cases
Santos, Mark A.	07/27/2017	0.20	\$425.00	\$85.00	Communicate with client A. Machtemes re discovery
Santos, Mark A.	07/27/2017	0.40	\$425.00	\$170.00	Review/Analyze draft discovery responses
Santos, Mark A.	07/27/2017	0.80	\$425.00	\$340.00	Review/Analyze GCCC discovery request
Santos, Mark A.	07/28/2017	0.60	\$425.00	\$255.00	Review/Analyze draft discovery responses
Matter Total	:	7.30		\$3,102.50	-

- :

Exhibit JRD-5 Page 20 of 41

Lawyer Summary

Performed By	Rate	Hours	Total Fees
Santos, Mark A.	\$425.00 _	7.30	\$3,102.50
	Sum:	7.30	\$3,102.50

Expenses

Date	Description	Amount

Total Expenses:

Fees / Expense Summary

Fees: Expenses: \$3,102.50

Total Amt Due:

\$3,102.50

Parsley Coffin Renner LLP

P O Box 13366 Austin, TX 78711

Taxpayer I.D. # 27-0934461

Invoice Description: 2017 EECRF

Invoice #:	6596	Matter #:	2017 1217
Invoice Date:	09/22/2017	Matter Desc:	2017 EEPR & EECRF Docket
Invoice Total:	\$5,637.50	Main Assignee:	Moon, Mickey

Exhibit JRD-5 Page 24 of 41

Invoice Detail

Performed By	Date	Hours	Rate	Total	Description
Santos, Mark A.	08/02/2017	0.30	\$425.00	\$127.50	Review/Analyze draft discovery responses
Santos, Mark A.	08/04/2017	0.40	\$425.00	\$170.00	Draft/Revise statement of confidentiality
Santos, Mark A.	08/10 / 2017	0.40	\$425.00	\$170.00	Review/Analyze draft discovery responses re incentive compensation
Santos, Mark A.	08/10/2017	0.60	\$425.00	\$255.00	Review/Analyze draft errata issue
Azarani, Emma	08/11/2017	0.40	\$175.00	\$70.00	Review/Analyze and finalize for filing CenterPoint's Response to Staff's 1st RFI
Santos, Mark A.	08/11/2017	0.20	\$425.00	\$85.00	Communicate with client A. Machtemes re case status
Santos, Mark A.	08/14/2017	0.20	\$425.00	\$85.00	Communicate with client M. Moon re case status
Santos, Mark A.	08/17/2017	0.30	\$425.00	\$127.50	Communicate with client M. Moon, et al. re settlement
Santos, Mark A.	08/17/2017	0.20	\$425.00	\$85.00	Communicate w/other external GCCC and Staff re settlement
Santos, Mark A.	08/17/2017	0.30	\$425.00	\$127.50	Draft/Revise term sheet
Santos, Mark A.	08/17/2017	1.20	\$425.00	\$510.00	Review/Analyze settlement issues
Santos, Mark A.	08/1 8 /2017	0.30	\$425.00	\$127.50	Communicate with client A. Machtemes, et al. re settlement
Santos, Mark A.	08/21/2017	0.30	\$425.00	\$127.50	Communicate with client A. Machtemes re draft errata
			Page	2 of 6	
Fees

Performed By	Date	Hours	Rate	Total	Description
Santos, Mark A.	08/21/2017	0.40	\$425.00	\$170.00	Communicate with M. Moon, et al. re draft term sheet
Santos, Mark A.	08/21/2017	1.10	\$425.00	\$467.50	Review/Analyze draft errata
Santos, Mark A.	08/22/2017	0.20	\$425.00	\$85.00	Communicate w/other external GCCC and Staff re abatement
Santos, Mark A.	08/22/2017	0.30	\$425.00	\$127.50	Draft/Revise letter to ALJ re abatement
Santos, Mark A.	08/22/2017	0.40	\$425.00	\$170.00	Review/Analyze settlement issues
Santos, Mark A.	08/24/2017	3.60	\$425.00	\$1,530.00	Draft/Revise settlement agreement and proposed order
Santos, Mark A.	08/25/2017	0.30	\$425.00	\$127.50	Communicate with client A. Machtemes re settlement
Santos, Mark A.	08/25/2017	1.40	\$425.00	\$595.00	Draft/Revise settlement agreement and proposed order
Santos, Mark A.	08/28/2017	0.20	\$425.00	\$85.00	Draft/Revise settlement agreement per M. Moon comments
Santos, Mark A.	08/29/2017	0.30	\$425.00	\$127.50	Communicate with client M. Moon, et al. re settlement
Santos, Mark A.	08/29/2017	0.20	\$425.00	\$85.00	Communicate w/other external Staff and GCCC re settlement documents
Matter Total	:	13.50		\$5,637.50	

Exhibit JRD-5 Page 26 of 41

.

.

Lawyer Summary

Performed By	Rate	Hours	Total Fees
Azarani, Emma	\$175.00	0.40	\$70.00
Santos, Mark A.	\$425.00	13 .1 0	\$5,567.50
	Sum:	13.50	\$5,637.50

Expenses		
Date	Description	Amount
•		

Total Expenses:

.

Fees / Expense Summary

Fees: Expenses: \$5,637.50

Total Amt Due:

\$5,637.50

Parsley Coffin Renner LLP

P O Box 13366 Austin, TX 78711

Taxpayer I.D. # 27-0934461

Invoice Description: 2017 EECRF

.

Invoice #:	6617	Matter #:	2017 1217
Invoice Date:	10/24/2017	Matter Desc:	2017 EEPR & EECRF Docket
Invoice Total:	\$4,122.50	Main Assignee:	Moon, Mickey

Exhibit JRD-5 Page 30 of 41

Invoice Detail

Performed By	Date	Hours	Rate	Total	Description
Santos, Mark A.	09/07/2017	0.30	\$425.00	\$127.50	Communicate with client M. Moon, et al. re errata
Santos, Mark A.	09/07/2017	0.30	\$425.00	\$127.50	Communicate w/other external GCCC and Staff re settlement status
Santos, Mark A.	09/07/2017	1.40	\$425.00	\$595.00	Review/Analyze draft errata
Santos, Mark A.	09/08/2017	0.30	\$425.00	\$127.50	Communicate with client M. Moon, et al. re abatement
Santos, Mark A.	09/0 8/ 2017	0.30	\$425.00	\$127.50	Communicate w/other external parties re settlement documents
Santos, Mark A.	09/08/2017	0.20	\$425.00	\$85.00	Draft/Revise letter re continued abatement
Santos, Mark A.	09/12/2017	0.20	\$425.00	\$85.00	Communicate w/other external Staff re revisions to proposed order and stipulation
Santos, Mark A.	09/13/2017	0.20	\$425.00	\$85.00	Communicate with client M. Moon, et al. re Staff edits to proposed order and stipulation
Santos, Mark A.	09/13/2017	0.30	\$425.00	\$127.50	Communicate w/other external Staff re rate case expenses
Santos, Mark A.	09/13/2017	0.50	\$425.00	\$212.50	Draft/Revise proposed order and stipulation based on Staff's recommendations
Santos, Mark A.	09/13/2017	0.80	\$425.00	\$340.00	Review/Analyze Staff revisions to proposed order and stipulation
Santos, Mark A.	09/14/2017	0.50	\$425.00	\$212.50	Communicate w/other external Staff and GCCC re final changes to settlement documents
			Page (2 of 5	

Fees

Performed By	Date	Hours	Rate	Total	Description
Santos, Mark A.	09/14/2017	1.80	\$425.00	\$765.00	Draft/Revise final settlement documents and motion to remand to Commission
Santos, Mark A.	09/15/2017	0.60	\$425.00	\$255.00	Communicate w/other external parties and Company re filing of settlement
Santos, Mark A.	09/15/2017	1.00	\$425.00	\$425.00	Draft/Revise final settlement documents
Santos, Mark A.	09/15/2017	0.60	\$425.00	\$255.00	Review/Analyze final settlement documents
Santos, Mark A.	09/15/2017	0.40	\$425.00	\$170.00	Review/Analyze Staff affidavits in support of stipulation
Matter Total	l:	9 .70		\$4,122.50	

Lawyer Summary

	Performed By		Rate	Hours	Total Fee	2 S	
	Santos, Mark A .	\$425.	00	9.70	\$4,1	22.50	
			Sum:	9.70	\$4,1	22.50	
Expenses							
Date	Description						Amount
·					· · · · · · · · · · · · · · · · · · ·		
					Total	Expenses:	
	i i						
	1						
			D 4	of F			
			Page 4	C 10			

Fees / Expense Summary

Fees: Expenses: \$4,122.50

Total Amt Due:

\$4,122.50

Parsley Coffin Renner LLP

P O Box 13366 Austin, TX 78711

Taxpayer I.D. # 27-0934461

Invoice Description: 2017 EECRF

Invoice #: 6637 Invoice Date: 11/20/2017 Invoice Total: \$2,732.00

Matter #: 2017 1217 Matter Desc: 2017 EEPR & EECRF Docket Main Assignee: Moon, Mickey

Invoice Detail

Performed By	Date	Hours	Rate	Total	Description
Santos, Mark A.	10/12/2017	1.20	\$425.00	\$510.00	Review/Analyze proposed order issues
Santos, Mark A.	10/16/2017	0.20	\$425.00	\$85.00	Communicate with client M. Moon, et al. re proposed order
Santos, Mark A.	10/16/2017	0.30	\$425.00	\$127.50	Draft/Revise letter to Commission re proposed order
Santos, Mark A.	10/16/2017	0.80	\$425.00	\$340.00	Review/Analyze proposed order
Santos, Mark A.	10/25/2017	0.30	\$425.00	\$127.50	Communicate with client A. Machtemes, et al. re Commissioner memo
Santos, Mark A.	10/25/2017	0.50	\$425.00	\$212.50	Communicate w/other external Staff and GCCC re Commissioner memo
Santos, Mark A.	10/26/2017	2.30	\$425.00	\$977.50	Appear for/attend Open Meeting for consideration of proposed order
Santos, Mark A.	10/26/2017	0.30	\$425.00	\$127.50	Communicate with client A. Machtemes re case status and Commissioner memo
Santos, Mark A.	10/26/2017	0.50	\$425.00	\$212.50	Draft/Revise letter for response to Commissioner memo
Matter Total	l:	6.40		\$2,720.00	::

Lawyer Summary

	Performed By	Rate	Hours	Total Fees	
	Santos, Mark A.	\$425.00	6.40	\$2,720.00	
		Sum:	6.40	\$2,720.00	
	;				
Expenses					
Date 10/31/2017	Description Photocopies				Amount \$12.00
				Total Expenses:	\$12.00
				Total Expenses.	¥12.00
	i				
		Page 3	of 4		

Fees / Expense Summary

\$2,732.00

 Fees:
 \$2,720.00

 Expenses:
 \$12.00

Total Amt Due:

Parsley Coffin Renner LLP

P O Box 13366 Austin, TX 78711

Taxpayer I.D. # 27-0934461

Invoice Description: 2017 EECRF

Invoice #: 6660 Invoice Date: 12/19/2017 Invoice Total: \$892.50

Matter #: 2017 1217 Matter Desc: 2017 EEPR & EECRF Docket Main Assignee: Moon, Mickey

Invoice Detail

Performed By	Date	Hours	Rate	Total	Description
Santos, Mark A.	11/17/2017	1.80	\$425.00	\$765.00	Appear for/attend Open Meeting for final order
Santos, Mark A.	11/17/2017	0.30	\$425.00	\$127.50	Review/Analyze Chairman Walker memo re final order
Matter Total	:	2.10		\$892.50	

				Page	40 of 41
		Lawyer S	ummary		
	Performed By	Rate	Hours	Total Fees	
	Santos, Mark A.	\$425.00	2.10	\$892.50	
	1	Sum:	2.10	\$892.50	
Expenses					
Date	Description		. <u></u>		Amount
				Total Expenses:	<u></u>
		Page	3 of 4		
	:	1 290 1			

Exhibit JRD-5

Fees / Expense Summary

Fees: Expenses: \$892.50

Total Amt Due:

\$892.50

WORKPAPERS

OF

JOHN R DURLAND

.

	Residential	Secondary < 10 kVA	Secondary > 10 kVA	Primary	Transmission	Total Line Loss Value
2017 kW Savings	49,602	958	89,024	46,994	1,847	
% of Total Savings	26%	1%	47%	25%	1%	1
Line Loss Value Approved in Docket 38339	5.77%	5 77%	5.52%	3.49%	2.00%	
Weighted Line Loss Value	1.519%	0.029%	2,608%	0.870%	0.020%	5.05%

JRDWP2 - Utility Portfolio Cost Effectiveness

-

		·	2014					2015				2016				20	117	
	Actual Demand Reduction (MW)	Actual Energy Savings (MWH)	Program Co	st	Total \$/kW	Actual Demand Reduction (MW)	Actual Energy Savings (MWH)	Program Cost	Total \$/kW	Actual Demand Reduction (MW)	Actual Energy Savings (MWH)	Program Cost	То	tal \$/kW	Actual Demand Reduction (MW)	Actual Energy Savings (MWH)	Program Cost	Total \$/kW
TNMP	9 60	17,119	\$ 4,526,64	00	\$ 471.43	8.70	17,520	\$ 4,012,014.00	\$ 461.15	12.25	21,716	\$ 5,097,623.00	\$	416.03	10.58	20,763	\$ 5,023,051.00	\$ 470.15
XCEL	5.01	11,962	\$ 2,497,75	.00	\$ 498.55	8.17	14,537	\$ 3,226,000.00	\$ 394.86	8.40	14,040	\$ 3,309,953.00	\$	393.95	7.76	16,871	\$ 3,675,490.00	\$ 473.95
El Paso	13.56	22,899	\$ 4,281,19	.00	\$ 315.79	12.31	22,283	\$ 3,874,504.00	\$ 314.74	12.31	22,283	\$ 3,608,882.00	\$	Z93.29	15 29	23,312	\$ 4,260,430,00	\$ 278.75
Entergy TX	17.20	39,214	\$ 8,091,00	.00	\$ 470.41	18.10	39,721	\$ 7,147,000.00	\$ 394.86	19.74	45,044	\$ 7,026,852.00	\$	355.99	21,19	50,575	\$ 7,074,568.00	\$ 333.86
Oncor	125.30	202,105	\$ 56,320,06	.00	\$ 449.48	115.81	178,908	\$ 47,305,992.00	\$ 408.48	128.83	198,742	\$ 53,869,937.00	\$	418.15	155.23	170,124	\$ 48,511,214.00	\$ 312.51
SWEPCO	12.58	17,494	\$ 3,682,20	0.00	\$ 292.70	9.88	15,262	\$ 3,346,850.00	\$ 338.75	11.94	20,648	\$ 4,148,989.00	\$	347.52	13.63	18,864	\$ 4,295,190.00	\$ 315.22
AEP North	8,15	11,867	\$ 2,756,81	.00	\$ 338.26	4.54	12,289	\$ 2,770,780.00	\$ 610.30	4.26	7,464	\$ 2,627,930.00	\$	616.88	6 75	12,040	\$ 2,996,380.00	\$ 443.78
AEP Central	39.83	63,815	\$ 13,694,88	.00	\$ 343.83	43.78	68,507	\$ 13,508,120 00	\$ 308.55	39.41	68,278	\$ 13,647,287.00	\$	346.27	45.52	65,464	\$ 13,264,970.00	\$ 291.40
CenterPoint	159.19	153,170	\$ 35,665,30	.00	\$ 224.04	168.49	188,255	\$ 35,832,992.00	\$ 212.67	167.70	190,857	\$ 33,110,909.00	\$	197.44	188,44	183,491	\$ 31,420,852.00	\$ 166 74

.

Workpaper JRDWP3 is confidential. A copy of this material will be provided pursuant to the protective order issued in this docket.

.

													JRDWP4 bonus cale 2018	_
- under	Measure	Raperted / Verilical & W	Reported / Verified kWh	Estimated Usaflai Measure Life	Percentage of Demand Samuge	-	Ťeini Ažmie ZN	EMAY Upones Tota	The Case of State of State of State		STRW S/MWa	Meximum Avrided Cart		
C.4.1 Spectar Offer Inorthwa	Lighting Retrofil	1701	0.692,615,62	15.0	53,0154 5	2 732.02.2	531,052 \$	\$ 5212515	3,040 5 2,120,101,147		772.52 \$ 0.366	14,025,412	2 5 11.70	312
	ACE-RVAC(U) - DX ACE-RVAC(I) - Screen Conjunction	10.05	0.666.571.t		\$176 5	- 1	51,022 \$	5,027,06 5	50 \$ 20°5		772.52 \$ 0.366		1 5 50	1
	Lichting New	1,395.1	6.403.052.0		5 7590 61	A IVE IN	158.412 5	15.520.10	916 S 21 S 216 201		2 1454 2 1454 2 7777 2 15 0 2464 2	320,607 3		2422
	VFD == Ak Hawler	63.2	0.792.)KE		5 1148	37,940 \$	1.527 5	10.79 5	42.94 S EF		772.52 \$ 0.345		148.3	320
	Autorian	1224	9 LTF 6FE		140%		1.97 5	1,256.68 5	62 2 79,228	_	75.41 5 9 036		E S (41.32	1225
C.A.I Stardad Offic bucchives	Glee Registance	-	(6)(12.0	0.02% \$	200	\$ 061	19,16	1 2 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		057 47 5 0.335			
	JERROR RATINI - CONCOM A CE-HY A CITD - Contribution	240	1 1/251,4071		2.50% 5	100.001	21.141 5	210.29 \$	125 5 737.501		525 5 0,292			716
	(JD tavag MV	30.4	1,101,101			12 704 5	4,675 5	3 10.705		•	772.42 \$ 0.305		1.360,U44	
	ui diseaver	3'6EE'L	196611611	1.1 2 4.4 2 1.1	200,00155 5	S LIVERBACCY	B46,556 T	- 1- 5 1945VYS.	4457 S 8,172,749		1	1	1	
		(III	9769 6411		5	19(12)								
	Codine Responds (CRAH)	121	0.606.01		5 54716	15,000 5	2917 5		30 5 29 312			l		
	industruptible Porter Sundy	871	0315(5)		10 22% 5	3 116 02	\$ 270 \$				580.35 \$ 0,292			662
	Lettor Optimization	23	45550	201	0,9636 5	5 69	5 998	214.51 5	9 \$ 2.769	-	506.36 5 0.292 \$	\$ 16,367 \$		Des.
	Decembers	141	263 227,0		5 3467	5 00111	2 171 2		24 6 14 717		7/2 52 15 0.303 FAC 15 1 0.303			311
· · · ·	All Meesson	1945			3 3606,601	S PENYICE	- 3 800'E4	•	570'SHE					110
	Scheelbles Brens	6,922,821			100.00% 5	3,027,561 5	261,179 5				76.41 \$ DU3			212
1.1	VII MEMILIEN	111111		1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1	100.0674 \$	2 3437.561.48 5	\$ 4411197		9	-	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	Ŀ		ZVG
	turbisginan dan 4.054 Turbis Pisa	1161	233 194.0		2 200 001		4 1977 27							
	ALMERICAN STATES AND ALME	1971 1. 1	19966722	55	5 7500 DOI	Ł	41301 5	4 243 1 5 3,461 91 1	101721 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		4 401 0 5 BLOOD			
	Operational	1 466,0	1,461,656,0		100 0054 5	11	22,450 5		1	ļ,	585,38 6 0.292	1		337
	UI Meanwras	466.0	3,661,555,0		\$ %Jernet		1 1 1 2 1 4 20 31 1	- 1	۰ł	-		PI	· · · · ·	237
ŀ		7.17			100.007	1.	46,458 5	- I+	.1		5467.34 B 07.92	- ŀ		223
Energy Schools (SCORE)	krug kerneg bestjoer Cost					1.222.927	C 0500	- 1	۰.		(124
	M-Cooled Chiller (Non-Contributed)	112	A [570]	5 M2	1 202-0	5 ACCC	1 100 1	5 40/2				90.00		8
	Julie Are Ceeled - Centrifying	63	155.470.0		1.61%	\$ 157.01	3.123 5	794,45 5			1.014.15 \$ 0.505			97,696
	The Net Cooked - Some Scrall Recentrace in	202	2131.746.0		11.41% 5	436.276	2112 5	6.646.M S		\$				036
	Contine Water Costed - Scrywergraul/Lesiprecising	5112	1.554.539.01	02	5.4012	244.051 5	2,512 5	271414 5	ZBU S 244 225	-	1014.15 5 0.406 3 #11 ns s 0.454 5		2 287,901 7 1 2 287,901	801 F31
	interv Manusconnet Synton	16.0	0/2 PC 202		0 46% 3	51.013 \$	1,607 5	230.69 5						235
	DNIERGY STAR Rolf	2140	360.813.0		\$ 725'5	142.241	\$ 206,01	2742.01 5	143 5 24101					148,164
		10	0000		5 1400.0	×		1.67 5	0 2 0	"	111.47 3 0 058			10
	TOT I DISTRICT UNSCHITCE (HILD)	57	9 2000 M	-	0.1751 5	5 10E	3115	96,316 5	4 5 3,863		761.20 5 0.313		1 0	N.
	HYAC-DX/Heat Pump	26.3	130.01.0	150	0.69% 5	2 82 22	1.497 5	3411	30 S 27678	-	111 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1			
	Actual Select (ED) Lange	51	0,0004		3 1220	\$ 022.9	446 5		4 5 7,282		542.05 \$ 0.270		\$ \$	126
	JAN Existing (1.40)	1,000 L	E.024.405.0		3 145625	Utren s	76,476 \$		1.263 S L192461		1772.02 S 0.345		20E 3 05	858
	about Phonic terrat	Nea	UAUX/941		S MAY	S 257 101		2,700,76	194 S 187,785		710 35 5 0.272		44	243
	fodular CFL and CCFL Fostures	12	11,552.0	16.0	3 0.06%	1256 5		21.64 5	1 1 2 1 2 2 2	,	103.00 5 0.401		2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	974
Eastry Smert Schoole (\$CORE)	tetra Communicating	12111	0.00.07	10.0	2,46% 5	105.41 5		5 IZI 5 69 (6Y'	121 5 121	,	698.34 \$ 0.292 \$	\$ 291,767 \$	7 5 17	506
	ALE CARLES	20	140,000.0		2 22 ET 0	24 112 5	1 464	A1017 6	2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	~	446.25 S 0.242		2 2	
	NY DX HVAC	15	0.820.EE		0.15%	4,806 5	396 5	2 69 62			72.62 5 0.266	S 947.41		
	Kater-Caeded Chrifter - Custom	150.0	270,000.0		\$ %41°F	6 \$96'68	\$ \$65"7	1,912.42	103 \$ 91,262	\$	1,014,15 \$ 0,506		8 S (38.31	386
	(All Measured	AINLE	22,395,395,0		199,00,00	3.274,734,74 \$	208,189 \$	49,703.42 3,						14
Healthcare	Children Creat	2942	0.400.121.X		5 2/22 5	5 518 075		15 201 201 6	17177 V 1217777		044 CE 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		7 E	
	Chiles-Oling	115	12,01.0		3,36% 3	29,262 5		175 (5) 5	37 3 34 34 34 383		11.06 5 0.484			10
		114	0.049.004	10.0	14.71% 5	132.64 \$	15,200 5	4.359.26 3	9907001 5 691		5H6.35 \$ 0.242 \$	5 170,06d 3	5 5	
	TAC	1121	224 190 1		2 12172	20,270 5		530.02	21 5 21 54	.,	772.52 \$ 0396	ĺ		707
	Light Biming, Diede (LED)	. 73	43,733.0		\$ %4261	5 3566		342.77 5	NSTI 5 11	•	705.0 2 20.000		5 Z &	325
	Johnine Constrols	50	35,010,0		5 14150	\$ 612.5		237.05 \$	10 5 6,406	-	586.35 \$ 0.202			661
Hradinore I.	Joner Plaorescend	022	0.225.61		1974 5	29.917 5		1 20.05	54 \$ 35,683	57	786.25 \$ 0,363		1 5	212
	Operational State Statutes	.	0.174.012		2 M00 0	7 200		2 2 20	1 2 1 2 1 2 1 2 1 2 1 2 1 2 1 2 1 2 1 2	-	803.60 S D.401		5 0	
	Kheis	3.5	41,451.0		1.74% 5	10,207 5	1.558 5	\$ 18'151	19 [5 11]		567.47 \$ 0.333		9 9	
Heathcare	terrina Edicience Magits	12	6.502.0		0,40% 3	2.575 5	361 3	2 25.091	4 S 3.044		772.52 \$ 0365		3	
	1 Marshare		N. 623 (97		5 355 5	2412 5	3 41215	1111	39 \$ 27/62	<u> </u>	772.52 \$ 0.365			8
i :	All Meissing	4.627.36	179/49/47 · ·		2	\$ 10'S39'622'5	NLS18 15	75,728,14 . 5	4445 5 1 4514 570					
	Unit in the second s					17.442								
				120	100.00% \$	46.267 5	2.01.5	2.424 5 11.211 76 5	21 5 59.970		772.52 6 0,385 5	5 511.176 5	6 5 461.20	307
	Sectral Ak Conditions Replacement	1 R	54.741.0]	14771	31.329 5	461639 5	12 5 51 013		PCL 5 0.479			
	to A have A spinotonia	12	5.663.0			3.766 5	10,647 5	1.637.27 \$	4 3 16074	~	772.52 \$ 0.365		2 5 (6,862	862)
	Address interjunces R-SOF		1,554.0		1302	702 5	2544 5	392.74 5	1 5 3.639	5	1.014 15 5 0.605			135)
			1977 - 1777 - 1777 - 17	2.1.5	2 1/2/10/10/1	5 10 UT (10 UT)	2 42774	5.74LAU 5	200-200 2 2 42		TUA.10 5 0.200	Ľ		059
	amplementerion Cost				2	10 UC	C Analisat	a definition of	Contacti - 17 - c - 1		1	1		123
	iew Moon	6,707,81			لمرة	3,677,205 5	217,696 5		4.213 5 4,036,735	5	676,03 \$ 0.497 \$	2 190'090'09	15,000,06 203,01,01	312
		L'IN'EL			100,00% 5-	1 1. X67.205.17 3	3 949 112	5 77,640,40 S	4213 S					312
		100		-	100.00%	2 200 201	33,082 5	11.067.70	175 5 197,207	_	570-53 \$ 0447 S		*	5
	Indian and a second	1422			2 7742 64	C DITENT	3 720 E	2 0/.700/LL	HYAD21/21 2 41/0/].	040 M 4 144		4 5	49
	Conformation Space and Writer Hosting Systems	6100	0 100 100'1	20.0	72.68%5	1 22611	S FEUSP	5 59'00C 6 5 EEI'SP	205 5 233,472	<u>,</u>	VII.06 5 0454 5	1 201 001 2	2 2 115	240
	AJI Measures	3726571			3 7500'00I	279,641.06 \$	S 142723	12,689.66 5	ľ					124
2	AUNDEMENTED TO THE STATE OF T	1				443,534,10 5	2 CAN - 2		50,025			5 2784.71	10272	111
	Laboration (Laboration)	1 404 8			1 AN CALL	2 1 1 2 1 2 1 2 1 2 1 2 1 2 1 2 1 2 1 2	0 00177		1 646 6	ļ	22 X 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2			
ting Rendential	A News	3,005,6	18,002,404,5	101 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	2 Statual	879.004.0	5 1071FEE 5 062'90		1007			1 8 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		100
	meleritesterien Casi				5	17.439								
	<u>Autral Art</u> Canditioner Replacement Last Pouss Resinctment	2644	7,568,693.6	180	98.20% S	2101.02	165,136 5		2.407 5 3.299.569		00000 5 0.429 5	5 9778,481 5	1 5 3,400	2
	All Mericanization and a second se	1.23572	1.2700.0167	· · · · · · · · · · · · · · · · · · ·	1 100 00 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	S STREET S	101.246 2.12			*	1/25.02			
	icheeluded Ervent	1361.71	103,132.0		\$ \$200'001	711 57 5	2,943 \$		292 \$ 862,762		76.41 5 0.034		2 5	561
	II Morente	T2171	OTTENT TO TAKE TAKE		2 100 001	5 97126 31 · ·	1-3 22.0027 1.		192 3 1 967 W	1		5		
		1,625 0	4136.6570		100.001	1 471 472 8	134.060	0.07in terri e					4 E //+	12.11
•.	d Mennes	1625.0	4,36457.0	5.01	3 X-00 001	1,471,422,000 3	5 - 61-634°561	1.5 858426.11	1.686, S 1.617.256			5 11 (167)	1 5 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1	
Pool Tenno Trugtann	Languetamentation Cost				5	145762			I					
		COL	14701019	[m/d]	C PLANNIN	C 102710	21412	\$ 11/6222	702 37 712 702		640.35 \$ 0.202 1	1,230,39	0 5	128

ž	24
월명	ł
4 bar	
PADR.	

語語の

Record

EN & Expo

Tutal Admin.

Increase

Princetory of Dismod Carlings

Measure UM-

Betimated Useful

Reported / Verifica kWh

Reported / Verified XW

Meague . .-All Namesures

Program

	614,053	10,022	102	1,741	33,845	26,574	24,293	22,22	191,796	141.00	346,354	376,723	Let'2 10 378, 728	(40,462)	(14,253)	1.021	10,544	(24 HZ)	(20,763)	(EM/62) .	1.044,174	-during the gala (1001	7.00		24,60	(MV-A)	1.710.471	08)	(102)	(7,406)	(1412)	(2062)	Bay I'd Plant	1. 1. 11. 1.	(122,776)
Net Person		\$	5	5		-			1. J. 1. 8	_			A. 45 - 26 - 16	3					-		•	adari presidenti faliki de							2	5	5		5	1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1		
almum Avrided Cast		474,143	18,512	29,140	102.00	96.0.80	1,623	43.574		001023	00100	844,140	The reaction of the second sec	-	-		21672	107.14	43,902	41,942	1,01,392,1	1292996610 (July 10)	and a r	1 STATE	1	119°81	1620	6,142,482	263	16,592	5,659	5,642	I	100 YAN 9 7		1 javiar
2		\$ 2	5 2	2 5	424 4	-	S 15V			-	-	-	ritu-3	\$ 20			1 1	\$	5 4	•		3.07%				-	~	*	-	-	\$ 28	\$ 90	E A	いち たいけいち いけ		
5/1404	4 1 1 1 1	-		L.,	•	2	-	•	12,121	\$ 0382	÷.	\$ 0306	any life	\$	-	Ļ.,	\$ 0.464		9.44	Ŀ	5 0,4154	364			-	2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	-	-		5 0.401		5	-	いけたちょういちゃー		3
5/XW		560.34	5 385.36	505,35		50,312	5 111 0E		11 N N N N	5 772.52	· 5.2 3.56	6 1,014,15	ورابعة أتوسله الم	Stat. Mail Stat. Jak. Jak.	5 5M35	5 9(1,05	\$ 911.05		1 P/1.53		30,118 - 25	WAR SHITHING SEA		811.00	5 626.11	101415	100000				\$ 605 36	ſ	5 495,05	a lade i briting se		

12.194 2.194 2.194 8.373 84.688 73,665

Ē

40 86,14 96,141 96,141 19,00

000

1.1.1.1.2

- Internation

A Contraction of the second se

and the state of the

1- 01 S. 181.19

200, 200, 200,

34,912,952,05 126 625 075.05 3 2017 Peers

1

-11 S 157271

07 302 97.6

TRANSALL S

All Meanury

Liebline (COMARKE) 1

101

1	5	8
---	---	---

JRDWP5 kW kWh value by EUL Page 1 of 1

Uniform P Modifie	d Avo	ided	Cos	
		ire Lif		
EUL	kW		k₩	′h
1.0		75.41	\$	0.038
2.0		46.49	\$	0.073
3.0		213.49	\$	0.106
4.0		276.65	\$	0.138
5.0		336.18	\$	0.168
6.0		392.30	\$	0.196
7.0		145 <u>.</u> 19	\$	0.222
8.0		195.05	\$	0.247
9.0		542.05	\$	0.270
10.0		586.35	\$	0.292
11.0	6	528.11	\$	0.313
12.0	ę	667.47	\$	0,333
13.0		704.58	\$	0,351
14.0		39.55	\$	0.369
15.0		72.52	\$	0.385
16.0	E E	303.60	\$	0.401
17.0	6	32.89	\$	0.415
18.0	8	60.50	\$	0.429
19,0	E	86.52	\$	0.442
20.0	9	11.06	\$	0.454
21.0	9	34.18	\$	0.466
22.0	9	55.98	\$	0.477
23.0	9	76.53	\$	0.487
24.0	9	95.89	\$	0.497
25.0	1,0	14.15	\$	0.506
26.0	1,0	31.36	\$	0.514
27.0	1,0	47.58	\$	0.522
28.0	1,0	62.87	\$	0.530
29.0	1,0	77.28	\$	0.537
30.0	1,0	90.87	\$	0.544

Docket No. 47232 - CenterPoint 2018 EECRF Cities Rate Case Expenses

		,	Billing	Through	Invoice	Total Billed	
	Invoice Date	invoice No.	Period	Period	Amount	to Date	
Lloyd							
Gosselink	7/14/2017	97484253	6/1/2017	6/30/2017	\$2,239.46	\$ 2,239.46	
	8/10/2017	97485147	7/1/2017	7/31/2017	\$ 826.00	\$ 3,065.46	
	9/13/2017	97485879	8/1/2017	8/31/2017	\$ 2,229.70	\$ 5,295.16	
	10/11/2017	97486363	9/1/2017	9/30/2017	\$ 659.00	\$ 5,954.16	
	11/9/2017	97487798	10/1/2017	10/31/2017	\$ 383.00	\$ 6,337.16	
	12/12/2017	97488559	11/1/2017	11/30/2017	\$ 214.00	\$ 6,551.16	
							\$ 6,551.16
	,	<i>.</i>			×		
ReSolved							
Energy	7/10/2017	4010	6/1/2017	6/30/2017	\$1,017.00	\$ 1,017.00	
	8/3/2017	4027	7/1/2017	7/31/2017	\$ 988.00	\$ 2,005.00	
	9/11/2017	4051	8/1/2017	8/31/2017	\$ 390.00	\$ 2,395.00	
							\$ 2,395.00
Lloyd Gosselink +							
Consultant	7/14/2017	97484253	6/1/2017	6/30/2017	\$ 3,256.46	\$ 3,256.46	
	8/10/2017	97485147	7/1/2017	7/31/2017	\$1,814.00	\$ 5,070.46	
	9/13/2017	97485879	8/1/2017	8/31/2017	\$2,619.70	\$ 7,690.16	
	10/11/2017	97486363	9/1/2017	9/30/2017	\$ 659.00	\$ 8,349.16	
	11/9/2017	97487798	10/1/2017	10/31/2017	\$ 383.00	\$ 8,732.16	
	12/12/2017	97488559	11/1/2017	11/30/2017	\$ 214.00	\$ 8,946.16	
TOTAL							\$ 8,946.16



JRDWP6 - Invoices Page 2 of 35 ,16 Congress Avenue, Suite 1900 Austin, Texas 78701 Telephone: (512) 322-5800 Facsimile: (512) 472-0532

www.lglawfirm.com

December 12, 2017

Gulf Coast Coalition of Cities Attn Bobby Gervais City Attorney c/o City of Manvel Texas PO Box 187 Manvel, TX USA 77578

Invoice: 97488559 Client: 1720 Matter: 33 Billing Attorney: TLB

INVOICE SUMMARY

For professional services and disbursements rendered through November 30, 2017:

RE: Docket No 47232 CenterPoint 2018 EECRF

Professional Services Total Disbursements	\$ 182.00 \$ 32.00
TOTAL THIS INVOICE	\$ 214.00
Previous Balance	\$ 8,732.16
TOTAL BALANCE DUE	\$ 8.946.16

Gulf Coast Coalition of Cities Docket No 47232 CenterPoint 2018 EECRF I.D.1720-33-TLB December 12, 2017 Invoice: 97488559

PROFESSIONAL SERVICES RENDERED

Date A	tty	Description Of Services Rendered	Hours
11/16/17 W	VAF	Review memo filed by Chairman Walker; draft correspondence.	.20
11/17/17 W	VAF	Attend PUC Open Meeting.	.50

TOTAL PROFESSIONAL SERVICES \$ 182.00

SUMMARY OF PROFESSIONAL SERVICES

Name	Staff Level	Hours	Rate	Total
William A Faulk III	Associate	.70	260.00	182.00
TOTALS		.70		\$ 182.00

DISBURSEMENTS

Date	Description	Amount
10/31/17	Corporate Couriers Check # - 000034222 Corporate Couriers, Courier, Courier services, 10/31/2017	32.00
	TOTAL DISBURSEMENTS	\$ 32.00
	TOTAL THIS INVOICE	\$ 214.00

Lloya Gosselink Rochelle & Townsenu, P.C.

Gulf Coast Coalition of Cities Docket No 47232 CenterPoint 2018 EECRF I.D.1720-33-TLB December 12, 2017 Invoice: 97488559

OUTSTANDING INVOICES

INVOICE NUMBER	DATE	INVOICE TOTAL	PAYMENTS RECEIVED	ENDING BALANCE
97484253	7/14/17	3,256.46	.00	3,256.46
97485147	8/10/17	1,814.00	.00	1,814.00
97485879	9/13/17	2,619.70	.00	2,619.70
97486363	10/11/17	659.00	.00	659.00
97487798	11/09/17	383.00	.00	383.00

Previous Balance	\$ 8,732.16
Balance Due This Invoice	\$ 214.00
TOTAL BALANCE DUE	<u>\$ 8,946.16</u>

Lloyd Gosselink Rochelle & Townsend, P.C.

JRDWP6 - Invoices Page 5 of 35

INVOICE

CORPORATE COURIERS 2335 KRAMER LANE, STE. P AUSTIN, TX 70758 41996

.

8

LLOYD GOSSELINK ATTORNEYS AT LAW 816 CONGRESS AVE SUITE 1900 AUSTIN, TX 78701

:

י. א

1720-33

 Invoir • No.
 Customer No.

 46911
 1201

 Invc Date
 Total Due

 10/31/17
 709.20

NOW ACCEPTING VISA, M/C L AMEX FOR INVOICE PAYMENT PLEASE CALL 512.479.4007 TO GET SETUP.

•

				Customer No.	Invoice No.	Period Ending	Amount Due	Pg			
				1201	49911	10/31/17	709.20	3			
Date	Ordr No.	Svc			Service	Detail				Charges	Total -
10/25/17	756164	EBX EBK	816 CONGRE AUSTIN	TX 7870 PICE SERVICES	1	PUC 1701 N. CONGRES: AUSTIN Wght: 1 Lbs	S AVE. TX 78701		Base Roturn	; 16.00 ; 16.00	
				Total Cha	rg es for Ref.	JBP 1720-33;	32.00			7	32.00

.

.

.

.

.

.

.

•

.

lovd ATTORNEYS AT LAW

JRDWP6 - Invoices Page 6 of 35 516 Congress Avenue, Suite 1900 Austin, Texas 78701 Telephone: (512) 322-5800 Facsimile: (512) 472-0532

www.lglawfirm.com

November 9, 2017

Gulf Coast Coalition of Cities Attn Bobby Gervais City Attorney c/o City of Manvel Texas PO Box 187 Manvel, TX USA 77578

Invoice:97487798Client:1720Matter:33Billing Attorney:TLB

INVOICE SUMMARY

For professional services and disbursements rendered through October 31, 2017:

RE: Docket No 47232 CenterPoint 2018 EECRF

Professional Services Total Disbursements	\$ 383.00 <u>\$.00</u>
TOTAL THIS INVOICE	\$ 383.00
Previous Balance	<u>\$ 8,349.16</u>
TOTAL BALANCE DUE	<u>\$ 8,732.16</u>

Lloyd Gosselink Rochelle & Townsend, P.C.

Gulf Coast Coalition of Cities Docket No 47232 CenterPoint 2018 EECRF I.D.1720-33-TLB November 9, 2017 Invoice: 97487798

PROFESSIONAL SERVICES RENDERED

Date	Atty	Description Of Services Rendered	Hours
10/03/17	TRL	Case/file management.	.10
10/12/17	TRL	Update rate case expense tracking sheet with September invoice.	.20
10/25/17	WAF	Telephone conference with K. Hubbard regarding rate case expenses filing; prepare filing regarding rate case expenses.	.80
10/25/17	TRL	File rate case affidavit of T. Brocato and discuss procedures with W. Faulk and T. Brocato.	1.10

TOTAL PROFESSIONAL SERVICES

SUMMARY OF PROFESSIONAL SERVICES

Name	Staff Level	Hours	Rate	Total
William A Faulk III	Associate	.80	260.00	208.00
Tanya R Leisey	Paralegal	1.40	125.00	175.00
TOTALS		2.20		\$ 383.00

TOTAL THIS INVOICE

\$ 383.00

\$ 383.00

Lloyd Gosselink Rochelle & Townsend, P.C.

Gulf Coast Coalition of Cities Docket No 47232 CenterPoint 2018 EECRF I.D.1720-33-TLB November 9, 2017 Invoice: 97487798

OUTSTANDING INVOICES

INVOICE	DATE	INVOICE	PAYMENTS	ENDING
NUMBER		TOTAL	RECEIVED	BALANCE
97484253	7/14/17	3,256.46	.00	3,256.46
97485147	8/10/17	1,814.00	.00	1,814.00
97485879	9/13/17	2,619.70	.00	2,619.70
97486363	10/11/17	659.00	.00	659.00

Previous Balance	\$ 8,349.16
Balance Due This Invoice	\$ 383.00
TOTAL BALANCE DUE	\$ 8.732.16



4

JRDWP6 - Invoices Page 9 of 35 J16 Congress Avenue, Suite 1900 Austin, Texas 78701 Telephone: (512) 322-5800 Facsimile: (512) 472-0532

www.lglawfirm.com

October 11, 2017

Gulf Coast Coalition of Cities Attn Bobby Gervais		
City Attorney	Invoice: 9	7486363
c/o City of Manvel Texas	Client:	1720
PO Box 187	Matter:	33
Manvel, TX USA 77578	Billing Attorney	: TLB

INVOICE SUMMARY

For professional services and disbursements rendered through September 30, 2017:

RE: Docket No 47232 CenterPoint 2018 EECRF

Professional Services Total Disbursements	\$ 659.00 <u>\$.00</u>
TOTAL THIS INVOICE	\$ 659.00
Previous Balance	<u>\$ 7,690.16</u>
TOTAL BALANCE DUE	<u> </u>

Lloyd Gosselink Rochelle & Townsend, P.C.

Gulf Coast Coalition of Cities Docket No 47232 CenterPoint 2018 EECRF I.D.1720-33-TLB

ł

October 11, 2017 Invoice: 97486363

PROFESSIONAL SERVICE\$ RENDERED

Date	Atty	Description Of Services Rendered	Hours
9/06/17	HMW	Draft correspondence to company counsel regarding status of case and settlement	.20
		documents (Administration/case management).	
9/08/17	HMW	Review and draft correspondence with parties and co-counsel regarding status of	1.00
		settlement documents; review letter to administrative law judge regarding same	
		(Administration/case management).	
9/11/17	CLL	Create and update invoice tracking spreadsheet (Administration/case management).	.30
9/13/17	HMW	Review staff edits to settlement documents (Administration/case management).	.10
9/14/17	HMW	Review and draft correspondence between parties regarding status of settlement;	1.00
		prepare affidavit of rate case expenses; review company edits to settlement	
		documents (Administration/case management).	
9/15/17	HMW	Review and draft correspondence with parties regarding filing of settlement	.20
		documents (Administration/case management).	
9/28/17	TRL	Update rate case expense tracking spreadsheet with all invoices (Administration).	.30
9/30/17	PAS	Paralegal assistant time.	.30

TOTAL PROFESSIONAL SERVICES

\$ 659.00

SUMMARY OF PROFESSIONAL SERVICES

Name	Staff Level	Hours	Rate	Total
Hannah M Wilchar	Associate	2.50	230.00	575.00
Tanya R Leisey	Paralegal	.30	125.00	37.50
Claire L Labit	Paralegal	.30	120.00	36.00
Paralegal Assistant	Paralegal Asst.	.30	35.00	10.50
TOTALS		3.40		\$ 659.00

TOTAL THIS INVOICE

\$ 659.00

Lløyd Gosselink Rochelle & Townsend, P.C.

.

Lloyd Gosselink Rochelle & Townsend, P.C.

Gulf Coast Coalition of Cities Docket No 47232 CenterPoint 2018 EECRF I.D.1720-33-TLB October 11, 2017 Invoice: 97486363

OUTSTANDING INVOICES

ł

INVOICE	DATE	INVOICE	PAYMENTS	ENDING
NUMBER		TOTAL	RECEIVED	BALANCE
97484253	7/14/17	3,256.46	.00	3,256.46
97485147	8/10/17	1,814.00	.00	1,814.00
97485879	9/13/17	2,619.70	.00	2,619.70

Previous Balance	\$ 7,690.16
Balance Due This Invoice	<u>\$ 659.00</u>
TOTAL BALANCE DUE	<u>\$ 8,349.16</u>



JRDWP6 - Invoices Page 12 of 35 316 Congress Avenue, Suite 1900 Austin, Texas 78701 Telephone: (512) 322-5800 Facsimile: (512) 472-0532

www.lglawfirm.com

September 13, 2017

Gulf Coast Coalition of Cities Attn Bobby Gervais City Attorney c/o City of Manvel Texas PO Box 187 Manvel, TX USA 77578

Invoice: 97485879 Client: 1720 Matter: 33 Billing Attorney: TLB

INVOICE SUMMARY

For professional services and disbursements rendered through August 31, 2017:

RE: Docket No 47232 CenterPoint 2018 EECRF

Professional Services Total Disbursements	\$ 2,195.00 <u>\$ 424.70</u>
TOTAL THIS INVOICE	\$ 2,619.70
Previous Balance	<u>\$ 5,070.46</u>
TOTAL BALANCE DUE	<u> </u>
Lloyd Gosselink Rochelle & Townsend, P.C.

Gulf Coast Coalition of Cities Docket No 47232 CenterPoint 2018 EECRF I.D.1720-33-TLB September 13, 2017 Invoice: 97485879

PROFESSIONAL SERVICES RENDERED

Date	Atty	Description Of Services Rendered	Hours
8/04/17	HMW	Review company's responses to cities' requests for information (Administration/case management).	.70
8/11/17	HMW	Call with opposing counsel to discuss cities' position and possibility of scheduling settlement negotiations (Administration/case management).	.10
8/13/17	TLB	Review filings (Administration/case management).	.50
8/14/17	HMW	Review application and status of case; call with cities expert to discuss potential issues with application (Administration/case management).	1.00
8/17/17	HMW	Discuss status and resolution of case with opposing counsel; confirm cities' position with expert (Administration/case management).	.30
8/22/17	HMW	Review settlement term sheet from company; communicate agreement to abate case to parties; draft client communication informing about settlement proposal (Administration/case management).	1.00
8/25/17	TLB	Review filing; review settlement terms; discuss settlement with GCCC (Administration/case management).	1.70
8/29/17	HMW	Review proposed settlement documents from company (Administration/case management).	1.00
8/30/17	HMW	Review proposed settlement documents from company (Administration/case management).	2.00

TOTAL PROFESSIONAL SERVICES \$ 2,195.00

SUMMARY OF PROFESSIONAL SERVICES

Name	Staff Level	Hours	Rate	Total
Thomas L Brocato	Principal	2.20	360.00	792.00
Hannah M Wilchar	Associate	6.10	230.00	1,403.00
TOTALS		8.30		\$ 2,195.00

DISBURSEMENTS

Date	Description	Amount
7/31/17	Corporate Couriers Check # - 000033668 Corporate Couriers, Courier services, 7/31/2017	18.00
	Photocopying	.20
8/15/17	Corporate Couriers Check # - 000033747 Corporate Couriers, Courier, Courier services, 8/15/2017	16.50

Lloyd Gosselink Rochelle & Townsend, P.C.

Gulf Coast Coalition of Cities Docket No 47232 CenterPoint 2018 EECRF I.D.1720-33-TLB September 13, 2017 Invoice: 97485879

\$ 2,619.70

Date	Description		Amount
8/31/17	LLC, Consultant Se	ons Voucher # - 000090217 ReSolved Energy Consulting, rvices, Professional services for August 2017 - Regarding pa) for Project LG CEH 17 EECRF (47232), Invoice date	390.00
		TOTAL DISBURSEMENTS	\$ 424.70

TOTAL DISBURSEMENTS	5 42

TOTAL THIS INVOICE

Lloyd Gosselink Rochelle & Townsend, P.C.

1

Gulf Coast Coalition of Cities Docket No 47232 CenterPoint 2018 EECRF I.D.1720-33-TLB September 13, 2017 Invoice: 97485879

OUTSTANDING INVOICES

	INVOICE	DATE	INVOICE	PAYMENTS	ENDING
	NUMBER		TOTAL	RECEIVED	BALANCE
-	97484253	7/14/17	3,256.46	.00	3,256.46
	97485147	8/10/17	1,814.00	.00	1,814.00
			ous Balance		\$ 5,070.46
			ce Due This Invoice		<u>\$ 2,619.70</u>
		TOTA	AL BALANCE DUE		<u> </u>

CORPORATE COURIERS 2335 KRAMER LANE, STE. P Austin, TX 78758 41998

816 CONGRESS AVE

AUSTIN, TX 78701

SUITE 1900

LLOYD GOSSELINK ATTORNEYS AT LAW

Invoice No.	Customer No.			
47763	1201			
Inve Date:	Total Due			
7/31/17	503.55			
· · · · · · · · · · · · · · ·				
	··· ·			

NOW ACCEPTING VISA, M/C & AMEX FOR INVOICE PAYMENT PLEASE CALL 512.479.4007 TO GET SETUP.

Period Ending Amount Due Pg Invoice No. Customer No. 503.55 2 47763 7/31/17 1201 Total Charges Service Detail Date Ordr No. Svc . 7/26/17 736714 4BK LLOYD GOSSELINK ROCHELLE & TOWNSEND PUC 8.00 Base : 816 CONGRESS AVE 29K 1701 N. CONGRESS AVE. Return 3 10.00 18.00 TX 78701 AUSTIN TX 78701 AUSTIN Caller: OFFICE SERVICES Time: 09:17 Wght: 1 Lbs Signed: LIZ A \$18.00 18.00 V Total Charges for Ref. - JBP 1720-33;

INVOICE

	u	 			;-
ricoh	Nyquist	 8/7/2017	1720	33	1

Photocopies = \$0.20

,

INVOIC

•

.

CORPORATE COURIERS 2335 KRAMER LANE, STE. P AUSTIN, TX 78758 41998

.'

.

LLOYD GOSSELINK ATTORNEYS AT LAW 816 CONGRESS AVE Suite 1900 Austin, TX 78701

47936	3	Customer No. 1201 Total Due				
Invc Date	1					
		· · ·	990.	· 1: .		
···· 6.				1.		

NOW ACCEPTING VISA, N/C & AMEX FOR INVOICE PAYMENT PLEASE CALL 512.479.4007 TO GET SETUP.

			Customer No.	Involce No.	Period Ending	Amount Due	Pg			
			1201	47936	8/15/17	990.50	6			
Date	Ordr No.	Svc	······································	Service	Detail		4 <u></u>		Charges	Total
\$/07/17	739147	2HR	LLOYD GOSSELINK ROCHELL 816 CONGRESS AVE AUSTIN TX 787 Caller: Office Services Signed: KARL NALEPA	01	RESOLVED ENERGY 11044 RESEARCH AUSTIN Wght: 1 Lbs	BLVD TX 78759	LLC .	Base Fuel	Srchg: 1.50	16.50
			Total Charge	s for Ref	TRLKMH 1720-33;	16.50				\$11.6,5

ReSolved Energy Consulting, LLC

11044 Research Blvd., Suite A-420 Austin, Texas 78759 Phone (512) 331-4949

.

DATE	INVOICE NUMBER
9/11/2017	4051

BILL TO			
Thomas Brocato Lloyd Gosselink Lawfirm 816 Congress Ave, # 1900 Austin, Tx 78701			
		PROJECT	
	LG	CEH 17 EECRF (47	232)
DESCRIPTION	HOURS	RATE	AMOUNT
Consulting (K. Nalepa)	1.5	260.00	390.00
Work Completed thru - August 31, 2017	тс)TAL DUE	\$390.00

Monthly Recap

Kari Nalepa

Date	Task	Hours
August 1, 201	7 Call with H. Wilchar to discuss case issues and adjustments. (0.50 Admin/Case Management)	0.50
August 7, 201	7 Review responses to discovery. (0.50 Admin/Case Management)	0.50
	7 Call with H. Wilchar to discuss EECRF adjustments. (0.20 Admin/Case Management)	0.20
August 15, 201	7 Call with H. Wilchar to discuss EECRF adjustments. (0.30 Admin/Case Management)	0.30
		4 E(

1.50

Ì

179

Recap_August 2017_ KJN



ļ

-

JRDWP6 - Invoices 16 Congress Avenue 39 12 1998 35 Austin, Texas 78701 Telephone: (512) 322-5800 Facsimile: (512) 472-0532

www.lglawfirm.com

August 10, 2017

Gulf Coast Coalition of Cities Attn Bobby Gervais		
City Attorney	Invoice:	97485147
c/o City of Manvel Texas	Client:	1720
PO Box 187	Matter:	33
Manvel, TX USA 77578	Billing Attorney	: TLB

INVOICE SUMMARY

For professional services and disbursements rendered through July 31, 2017:

RE: Docket No 47232 CenterPoint 2018 EECRF

Professional Services Total Disbursements	\$ 805.00 <u>\$ 1,009.00</u>
TOTAL THIS INVOICE	\$ 1,814.00
Previous Balance	<u>\$ 3,256.46</u>
TOTAL BALANCE DUE	<u> \$ 5,070.46</u>

Gulf Coast Coalition of Cities Docket No 47232 CenterPoint 2018 EECRF I.D.1720-33-TLB August 10, 2017 Invoice: 97485147

PROFESSIONAL SERVICES RENDERED

Date	Atty	Description Of Services Rendered	Hours
7/07/17	HMW	Review and correspond with parties regarding draft procedural schedule and pleading; draft correspondence to expert regarding procedural schedule and testimony issues (Administration/case management).	2.00
7/13/17	HMW	Review and draft correspondence with parties regarding waiver of processing deadline and filing of letter to judge regarding same (Administration/case management).	1.50

TOTAL PROFESSIONAL SERVICES

\$ 805.00

SUMMARY OF PROFESSIONAL SERVICES

Name	Staff Level	Hours	Rate	Total
Hannah M Wilchar	Associate	3.50	230.00	805.00
TOTALS		3.50		\$ 805.00

DISBURSEMENTS

Date	Description	Amount
	Photocopying	21.00
7/31/17	ReSolved Energy Cons Voucher # - 000089684 ReSolved Energy Consulting,	988.00
	LLC, Consultant Services, Professional services for July 2017 - Consulting (K.	
	Nalepa), Invoice date 8/3/2017	

TOTAL DISBURSEMENTS	\$ 1,009.00
---------------------	-------------

TOTAL THIS INVOICE

Lloyd Gosselink Rochelle & Townsend, P.C.

\$ 1,814.00

Gulf Coast Coalition of Cities Docket No 47232 CenterPoint 2018 EECRF I.D.1720-33-TLB August 10, 2017 Invoice: 97485147

OUTSTANDING INVOICES

INVOICE	DATE	INVOICE	PAYMENTS	ENDING
NUMBER		TOTAL	RECEIVED	BALANCE
97484253	7/14/17	3,256.46	.00	3,256.46

Previous Balance	\$ 3,256.46
Balance Due This Invoice	<u>\$ 1,814.00</u>
TOTAL BALANCE DUE	<u>\$ 5,070.46</u>

Client Matter	Clent Matter Descr User	Parter		Date Printed	Process Name	Computer Name	Comments	Paper Size	Page Width	Page Height	Calor	Duplex	Pages per Shoet	Count as Sheets	Total Units
1720-33 /	Gull Coast Cositor Jill B. Penna	Secretarial	: Copy Audit Touch-	Jul 25, 2017 17:15	Copy Auril Touch	11040-5	· . · · · .	Letter	85 m.	110m '		· ·,	, 1 ,		3500
1720-33	Gulf Coast Coalition Tanya R. Leisey	Secretariat	Copy Audit Touch	Jun 26, 2017 14:20	Copy Audit Touch	LLOYD-2		Leiter	85n	11.0 m	۵	0	1	Ó	84 00
1720-33	Gulf Coast Coalition Tenya R. Leisey	Secretariat	Copy Audit Touch	Jun 26, 2017 135	Copy Audit Touch	LLOYD-2		Letter	85n	110 <i>n</i>		D	1	D	7 00
1720-33	Gull Coast Coalition Jill B. Penna	Secretarial	Copy Audit Touch -	Jun 14, 2017 11:11	I Copy Audit Touch	LTOND-5		Letter	85 n	11 Din.		a	1	0	39.00
1720 33	Gull Coast Coaldior Jil B. Penna	Secretanat		Jun 06, 2017 09.5	Copy Audit Touch	110/0-2		Letter	85n	11.0 n	D		1	Ω	45.00
CANAL COM	CASCES STREET		1999 - 1999 -	rist of the		1000	685533		C. C.C.C.	The second	2	6 (2)		STACE STA	S. A. COM

175 Photocopies = \$21.00

ReSolved Energy Consulting, LLC

11044 Research Blvd., Suite A-420 Austin, Texas 78759 Phone (512) 331-4949

ç

	Invoice
DATE	INVOICE NUMBER
8/3/2017	4027

BILL TO	7		
Thomas Brocato Lloyd Gosselink Lawfirm 816 Congress Ave, # 1900 Austin, Tx 78701			
		PROJECT	
	LG	CEH 17 EECRF (47	232)
DESCRIPTION	HOURS	RATE	AMOUNT
Work Completed thru - July 31, 2017	т	DTAL DUE	\$988.00

Monthly Recap

Karl Nalepa

ſ

(

185

Date	Task	Hours
July 7, 2017	Emails with H. Wilchar to discuss case issues. (0.10 Admin / Case Management)	0.10
	Review filing and work on analysis. (1.50 Admin / Case Management)	1.5
	Emails with H. Wilchar to discuss case issues. (0.20 Admin / Case Management)	0.2
	Review latest filings. Work on discovery. (0.70 Admin / Case Management)	0.2
	Complete discovery and send to T. Brocato for review. (1.30 Admin / Case Management)	1.3
		3.80

LG CEH 17 EECRF 47232

.

Recap_July 2017_KJN

.



....

JRDWP6 - Invoices 316 Congress Avenue Suite 7900³⁵ Austin, Texas 78701 Telephone: (512) 322-5800 Facsimile: (512) 472-0532

www.lglawfirm.com

July 14, 2017

Gulf Coast Coalition of Cities		
Attn Bobby Gervais		
City Attorney	Invoice: 9	7484253
c/o City of Manvel Texas	Client:	1720
PO Box 187	Matter:	33
Manvel, TX USA 77578	Billing Attorney:	TLB

INVOICE SUMMARY

For professional services and disbursements rendered through June 30, 2017:

RE: Docket No 47232 CenterPoint 2018 EECRF

Professional Services	\$ 2,223.00
Total Disbursements	<u>\$ 1,033.46</u>
TOTAL THIS INVOICE	\$ 3,256.46

Gulf Coast Coalition of Cities Docket No 47232 CenterPoint 2018 EECRF I.D.1720-33-TLB

.

July 14, 2017 Invoice: 97484253

PROFESSIONAL SERVICES RENDERED

Date	Atty	Description Of Services Rendered	Hours
6/02/17	TLB	Review filing; prepare client communication regarding filing; prepare consultant agreement. (Administration).	1.80
6/02/17	HMW	Draft motion to intervene (Administration/case management).	1.00
6/05/17	KMH	Draft engagement agreement with ReSolved Energy (Administration/case management).	.30
6/06/17	TLB	Review filing; prepare resolutions; prepare engagement agreement; prepare client communication; organize client coalition (Administration/case management).	.80
6/07/17	CLL	Review order and calendar deadlines (Administration/case management).	.50
6/12/17	HMW	Draft list of issues (Administration/case management).	.50
6/13/17	KMH	Create chart of cities regarding status of resolutions (Administration/case management).	.40
6/14/17	HMW		.20
6/16/17	HMW	Review Company's application, testimony, and docket filings (Administrative/case management).	2.30
6/21/17	KMH	Prepare protective order certifications for signature and filing (Administration/case management).	.50
6/23/17	KMH	Assist with discovery responses; gather documents in preparation of PUC filing (Administration/case management).	.80
6/26/17	KMH	Assist with PUC filing; gather and organize documents for filing (Administration/case management).	.50
6/30/17	PAS	Paralegal assistant time.	.20

TOTAL PROFESSIONAL SERVICES

\$ 2,223.00

SUMMARY OF PROFESSIONAL SERVICES

Name	Staff Level	Hours	Rate	Total
Thomas L Brocato	Principal	2.60	360.00	936.00
Hannah M Wilchar	Associate	4.00	230.00	920.00
Claire L Labit	Paralegal	.50	120.00	60.00
Kathy M Hand	Paralegal	2.50	120.00	300.00
Paralegal Assistant	Paralegal Asst.	.20	35.00	7.00
TOTALS		9.80		\$ 2,223.00

DISBURSEMENTS

Date	Description		Amount
-		Lloyd Gosselink Rochelle & Townsend, P.C.	
			Page 2

<i>y</i> ((1
Lloya Gosselink	Rochelle &	Townsenu	, P.C .

Gulf Coast Coalition of Cities Docket No 47232 CenterPoint 2018 EECRF I.D.1720-33-TLB

.

July 14, 2017 Invoice: 97484253

Date	Description	
	Postage	.46
6/15/17	Corporate Couriers Check # - 000033436 Courier, Corporate Couriers, 6/15/2017, 47209, Courier Services	
6/30/17	Corporate Couriers Check # - 000033505 Courier, Corporate Couriers, 6/30/2017, 47399, Courier Services	
6/30/17	•	
	TOTAL DISBURSEMENTS	\$ 1,033.46
	TOTAL THIS INVOICE	\$ 3,256.46

- Invoices e 30 of 35	REPORT ID: REG239 Cost Register Report NAME: *FINAL	Lloyd Gosselink FINAL REGISTER SRVC CODE/DATE Group 0003748 Through 0003748	Page 1 Date 7/05/17 Time 10:40:50 User DXKWHITEHI
NP6 - Page	* * * * * * * * * * * * * * * * * * * *		
JRDWI P	Client Name/ Trans Client#/ SubC Matter Desc/ Work Date Matter # SubM SubM Desc Atty CMR Number 1720 000 Gulf Coast C COST 6/06/2017 33 Docket No 47 COST	Srvc Trans Amt Vohr Grp/ Check #/ Group Desc/ c Code Quantity Youcher # User ID Narrative	Group Item# 0003748 0001(

\$.46

1920-33

E



INVOICE

CORPORATE COURIERS 2335 KRAMER LAN2, STE. F AUSTIN, TX 78758 41998

ļ

:

Invoice No.	Customer No.
47209	1201
Inve Date	Total Due
6/15/17	961.60
	シン 研究 とうし またし
	1

LLOYD GOSSELINX ATTORNEYS AT LAW 816 CONGRESS AVE SUITE 1900 AUSTIN, TX 78701

÷

· ^ .

NOW ACCEPTING VISA,M/C & AMEX FOR INVOICE FAYMENT PLEASE CALL 512.479.4007 TO GET SETUP.

				Customer No	Invoice No.	Period Ending	Amount Due.	Pg .			
				1201	47209	6/15/17	961.60	2		<u></u>	
Date	Ordr No.	Svc			Service	Detail			C	harges	Total
6/14/17	727613	18K 28K	816 CONGRE AUSTIN Caller: OF	TX 78701	-	FUC 1701 N. CONGRESS AUSTIN Wght: 1 Lbs	AVE. TX 78701	Base Roturn	: F	10.00	18.00
			Total	Charges for Ref	3862-1 1	.720-33 1669-41:	18.00			4	<u>u</u> .
4		•								1	

\$6.00

.

.

. -

INVOICE

CORPORATE COURIERS 2335 KRAMER LANS, STE. F AUSTIN, TX 78758 41998

ŧ

.

Invoice No.	Customer No.
47399	1201
Inve Date	Total Die
6/30/17	670.70
1	

LLOYD GOSSELINK ATTORNEYS AT LAW 816 CONGRESS AVE SUITE 1900 AUSTIN, TX 78701

1

.

NOW ACCEPTING VISA.M/C & AMEX FOR INVOICE PAYMENT PLEASE CALL 512.479.4007 TO GET SETUP.

•

			Pg	oue	. Amount L	d Ending	Peric	Invoice No.	Customer No,				
			_ 4	. 70	670.	6/30/17		47399	1201				
Total	Charges	C					e Detail,	Servic			SVC	Ordr No.	Bate
20.00	10.00 10.00 10.00	33 \$1	Base Return 166	· \	TX 78701	1 Lbr	AUSTI Wgbt:	Time: 14:57	TX 78701 Pice Services RCIN	816 CONGRI AUSTIN Caller: OI Signed: GJ	18K 18K	730187	6/26/17
	D C 3	41 1	166-4	•	20.00	1669-41:	1720-33	- KWH/TRL	harges for Ref.	-			4

•

\$10.00

 $\cdot |$

.



ReSolved Energy Consulting, LLC

11044 Research Blvd., Suite A-420 Austin, Texas 78759 Phone (512) 331-4949

.

	-	I
In۱	/0	ce

DATE	INVOICE NUMBER
7/10/2017	4010

BILL TO		1.17	
Thomas Brocato Lloyd Gosselink Lawfirm 816 Congress Ave, # 1900 Austin, Tx 78701	-		
	J [PROJECT	
	LG	CEH 17 EECRF (47	232)
DESCRIPTION	HOURS	RATE	AMOUNT
Consulting (K. Nalepa) Consulting (E. Cromleigh) Total Labor	2	7 260.00 8 175.00	702.00 315.00 1,017.00
Work Completed thru - June 30, 2017	. 1	OTAL DUE	\$1,017.00

Monthly Recap

Karl Nalepa

Date	Task	Hours
June 9, 201	Download and review filing and exhibits. (1.00 Admin/Case Management)	1.00
June 14, 2017	Review filing and respond to H. Wilchar regarding additional issues. (0.50 Admin/Case Management)	0.50
	Review filing and prepare discovery. (1.20 Admin/Case Management)	1.20
		2.70

)

193

Recap_June 2017_KJN

Monthly Recap

Erin Cromleigh

Date	Task	Hours
June 9, 2017	Review filing. (1.80 Admin/Case Management)	1.80
		1.80

JRDWP6 - Invoices Page 35 of 35

	2610 Spendin	and the second se	
	Incentives \$		28,176,842
and the second	min & R&D \$		3,244,010
Ad	ministration \$		3,121,235
	R&D		122,775
a postero cam	costs 💦 关		19201:575
lte	emized Admin and	R&D Expenses	· · · · · · · · · · · · · · · · · · ·
	Labor	· · _ · / [™] · \$	2,212,219
	Consultants	, · · · · · · · · · · · · · · · · · · ·	780,750
Cor	ntract Labor	\$	86,509
R&D P	roject Costs	\$	59,501
S	ponsorships	\$	9,213
	Expenses	\$	33,763
Sha	red Services	\$	18,364
	IT Services	\$	31,603
Misc. Equipment a	and Services	\$	12,088

Workpaper JRDWP8 is confidential. A copy of this material will be provided pursuant to the protective order issued in this docket.

.

.

.

.

.

.

PY2018

Utility	Year Sector	Program	kW	kWh	kW %	kWh % Priority	Priority Weight	Priority %	Biended %	kWh Cost	Priority Cost	Blended Cost	CY1 Cost	CY2 Cost	
CenterPoint	2018 Com	Advanced Lighting Residential	2,702	11,353,330	2%	6% Low	1	. 2%	4%	\$32,125	\$10,213	\$21,169	\$21,169	\$0	
CenterPoint	2018 Com	Commercial MTP (SCORE, Healthcare , Data Center)	7,000	38,000,000	4%	20% Medium	3	6%	13%	\$107,525	\$30,639	\$69,082	\$69,082	\$0	
CenterPoint	2018 Com	Large Commercial Load Management SOP	98,000	590,000	61%	0% High	5	9%	5%	\$1,669	\$51,065	\$26,367	\$26,367	\$0	
CenterPoint	2018 Com	Large Commercial SOP	15,000	86,000,000	9%	45% Medium	3	6%	25%	\$243,345	\$30,639	\$136,992	\$136,992	\$0	
CenterPoint	2018 Com	REP (Commercial CoolSaver)	181	559,472	0%	0% High	5	9%	5%	\$1,583	\$51,065	\$26,324	\$26,324	\$0	
CenterPoint	2018 Com	Retro-Commissioning MTP	1,652	14,000,000	1%	7% Medium	3	6%	6%	\$39,614	\$30,639	\$35,127	\$35,127	\$0	
CenterPoint	2018 HTR	Hard-to-Reach SOP	1,875	3,668,810	1%	2% Medium	3	6%	4%	\$10,381	\$30,639	\$20,510	\$20,510	\$0	
CenterPoint	2018 HTR	Multi-Family MTP (HTR)	1,51 9	1,476,201	1%	1% Medium	3	6%	3%	\$4,177	\$30,639	\$17,408	\$17,408	\$0	
CenterPoint	2018 LI	Targeted Low Income MTP (Agencies in Action)	1,170	2,053,554	1%	1% Low	1	. 2%	1%	\$5,811	\$10,213	\$8,012	\$8,012	\$0	
CenterPoint	2018 Res	Advanced Lighting Commercial	142	597,544	0%	0% Low	1	. 2%	1%	\$1,691	\$10,213	\$5,952	\$5,952	\$0	
CenterPoint	2018 Res	CenterPoint Energy High Efficiency Homes MTP	6,230	14,583,333	4%	8% High	5	9%	9%	\$41,265	\$51,065	\$46,165	\$46,165	\$0	
CenterPoint	2018 Res	Multi-Family MTP	658	1,430,896	0%	1% Medium	3	6%	3%	\$4,049	\$30,639	\$17,344	\$17,344	\$0	
CenterPoint	2018 Res	REP (CoolSaver & Efficiency Connection)	3,344	10,135,652	2%	5% High	5	9%	i 7%	\$28,680	\$51,065	\$39,873	\$39,873	\$0	
CenterPoint	2018 Res	Residential & SC SOP	952	1,740,893	1%	1% Medium	3	6%	3%	\$4,926	\$30,639	\$17,783	\$17,783	\$0	
CenterPoint	2018 Res	Residential Demand Response Program	19,500	117,000	12%	0% High	5	9%	5%	\$331	\$51,065	\$25,698	\$25,698	\$0	
CenterPoint	2018 Res	Residential Pool Pump & A/C Distributor MTP	1,379	3,790,617	1%	2% Medium	3	6%	4%	\$10,726	\$30,639	\$20,683	\$20,683	\$0	
CenterPoint	2018 Res	Smart Thermostat Program (Pilot)	250	1,200,000	0%	1% Low	1	. 2%	1%	\$3,396	\$10,213	\$6,804	\$6,804	\$0	

DOCKET NO.

APPLICATION OF CENTERPOINT	§	
ENERGY HOUSTON ELECTRIC,	§	PUBLIC UTILITY COMMISSION
LLC FOR APPROVAL OF AN	§	
ADJUSTMENT TO ITS ENERGY	§	OF TEXAS
EFFICIENCY COST RECOVERY	§	
FACTOR	§	

DIRECT TESTIMONY OF

LAURIE A. BURRIDGE KOWALIK

FOR

CENTERPOINT ENERGY HOUSTON ELECTRIC, LLC

TABLE OF CONTENTS

I.	INTROI	UCTION AND BACKGROUND	1
II.	SUMMA	RY OF ENERGY EFFICIENCY COST RECOVERY	2
III.	CALCU	LATION OF RIDER EECRF CHARGES	4
IV.	2019 PR	OGRAM COSTS ALLOCATION	5
V.	2019 EN	L&V COSTS	8
VI.	PERFOR	MANCE BONUS	9
VII.	(OVER)	UNDER RECOVERY OF 2017 EECRF COSTS	9
VIII.	HISTOR	UCAL PROGRAM COSTS	11
IX.	BILLIN	G DETERMINANTS AND RATE DESIGN	11
X.	TARIFF	FOR RETAIL DELIVERY SERVICE	13
XI.	SUMMA	RY AND RECOMMENDATIONS	13

TABLE OF EXHIBITS

Description

<u>Exhibit</u>

Exhibit LABK-1	Professional Qualifications of Laurie A. Burridge-Kowalik
Exhibit LABK-2	Calculation of Rider EECRF Charges
Exhibit LABK-3	Rider EECRF – Annotated
Exhibit LABK-4	Rider EECRF – Clean Copy